PRESENTS

THE ULTIMATE

ME

CHALLENGE

Over 500 different puzzles == t~te_
designed to give your br m RN “

& NOBLE
ultimate workouf|, opee S
'$9.98







THE ULTIMATE

MENTAL

CHALLENGE



THIS IS A CARLTON BOOK

This edition published by Bammes & Noble Inc.,
by arrangement with Cariton Books Ltd.

1995 Bames & Noble Books

Text copyright © 1995 Mensa Publications
Design copyright © 1995 by Carlton Books Limited

ISBN 1-56619-977-8

Printed in Raly



MENSA

THE ULTIMATE

MENTAL

CHALLENGE

BBBBBB

&&&&&&
ooooo




CONTENTS

Introduction 6
Level 1 Puzzles 8
Level 1 Answers 73
Your Puzzle Notes 80
Gargantua Mind Maze 81
Gargantua Mind Maze Answers 95
Level 2 Puzzles 97
Level 2 Answers 180
Your Puzzle Notes 192
Mazes 193
Mazes Answers 201
Level 3 Puzzles 209
Level 3 Answers 289
Your Puzzle Notes 304







THE ULTIMATE MENTAL CHALLENGE

Ifyou hke puzzles you Wlll’:hkeff!ff »ensa, '
~ exists entlrely for people Who are adept{%';i~

wMensa test and meet ‘people‘ of 111<e mind, then"wnte to
us at British Mensa Limited, Mensa House, St John's
- Square, Wolverhampton WV2 4AH England.

I should hke to thank all those Who helped w1th

wife Dons, our frlend Josw Fultoxz, and pz
| Ballhexmer, who ed" m



(%)
v £ 5

n g .9

s 2E

= £ 9

Mad] &2
= 2%
Nl TES
D £:£3
< L

.| 2g¢

See answer 25
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ruzzLE )

Can you correct this equation by moving one match?

PUZZLE
in this sequence?

Can you find the number which comes next

See answer 28

See answer 81



puzzLE LY

Which of the following cubes cannot be
made from this layout?

See answer 15

[L7td 6 |

Can you replace the question mark
with a number to meet
the conditions of the wheel?

See answer 58




LEVEL 1

PUZILE n

These tiles, when placed in right order, will form
a square in which each horizontal line is
identical with one vertical line.

Can you successfully form the square?

See answer 33
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ULFCHANIH
VYNBYMXU
WIFOGVCU JCEY
MCFPYL MILCHA
GIOHN LUCHCYL
WBYPS WBUMY
AYILAYNIQH
UHUWIMNCU
Hére are the codednames éf sbme places in or
 around Washington, D.C. Try to unravel them.

 Seeanswer62

PUZILE El

This diagram was constructed according to a certain
logic. Can you work out which number should
replace the question mark?

See answer 104

36 32
10 6 7

lpuzzLeRT)

Can you find the number to go at the bottom of
triangle D?

See answer 87
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LEVEL 1

PUZILE

Can you find out the relationship of the letters and
numbers in this square and find out which number
should replace the question mark?

See answer 35

PUZZLE

Can you work out how the numbers in the triangles
are related and find the missing number?

See answer 39



PUZILE I l '

VMEL To celebrate her sixth
birthday, Samantha
planted a tree in her

parents’ garden.

She had offten watehed her
dad plant things and she dfid it
st rigts
She even remembered to water it in.
Her mother was
furious. She said that

w3  the tree belonged to
g her and Samantha had
™. No business planting it.

Howsever, her father Uhowgnt

it was funny but explained
to her that e ree would
NEVEr Erows

Why?

See answer 41
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PUZILE I H

Can you find the odd ball out?

See answer 122

713 18

In this diagram, starting from the top of the diamond
PUZZLE and worki.ng in a clockwise direction, the four basic
mathematical signs (+, —, X, +) have been omitted.
Your task is to restore them so that the calculation,
Can you work out the time on the blank clock face? with answer in the middle, is correct.

See answer 83 See answer 6
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PUZILE I EI

Can you find the symbol that will balance the
last set of scales?

See answer 101

PUZZLE E 'l

The diagram represents an old-fashioned telephone

dial with letters as well as numbers. Below is a list of

numbers representing ten American States. Can you
use the diagram to decode them?

See answer 1

A. 1143256531 F. 562355

B. 72917 G. 83633531
C. 52161741 H. 2456321
D. 141741 I. 15456125
E. 32135 J. 1630551
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PUZILE m

Can you find the odd face out?

See answer 12

ce

SR

A B

1 C.

PUZZI.EEI PUZILE

Which matchstick man, G, H or L, would carry A curious logic governs the numbers in these circles.
on the sequence? Can you discover what it is and then work out what
the missing number should be?

Do Do >>

A A
A %

See answer 49 See answer 9
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PUZILE Ei

These tiles, when placed in right order, will form
a square in which each horizontal line is
identical with one vertical line.

Can you successfully form the square?

See answer 51

PIIZZI.Em PUZILE E'l

The above clocks move in a certain pattern. The letters and numbers in this square follow
Can you work out the time on the last clock? a pattern. Can you work out which number
represents the question mark?

See answer 100 See answer 19
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PUZILE EI

Can you find out which symbol would
balance the third scale?

See answer 96
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BRhoanmn

"

PUZILE E! 'I

Can you complete this series?

See answer 106




LEVEL 1

I e e P P e

PUZZLE Eﬂ

ion of this grid has been removed and its

A sect

you replace the symbols so that

d. Can

symbols delete

d?

the logic of the grid is restore
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—|X
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= X[ XXX+ [F == [ [+ XXX+

= F XXX == =X = X [X X =
e e g e e e e
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PUZILE EEI

Can you work out which two sides on these cubes
have identical numbers?

See answer 130

W
PuziEED

Can you find the number to complete the diagram?

See answer 21

21

?1%1&13815

; wmmusiuza:zzuzs

2151819382
13914519%1815145
3835234518
122715125131514&5
315311-1-12551195

21521912121 21919195

The above is a substitution code which
uses numbers in place of letters. The words that
have been encoded are all types of soup
from around the world.

See answer 119
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PUZILE Eﬂ

Can you work out whether + or — should replace the
question marks in this diagram so that both sections
arrive at the same value?

See answer 136

PUZILE E!"

The above triangles follow a pattern. Can you work it
out and find the missing number?

See answer 97

22
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Jim sat in the bedroom
watching the never-
ending rain morosely.
Je lhad fallen om his home town
for dhree weeks witlbour
®ES® and Uhere Were mnew

(@)

floods everywinere.
In most places the water was several
feet deep and rising rapidly.

Everyone had been
forced to live upstairs.
Just then hie wife walked im

ot try as he might, Jinm
couldmn’t et her vo taks e

sftwanion seriousiv.
Why not?

See answer 42
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Ais to B as Cisto

E F
PUZILE I ”

See answer 110

PUZILE I i I

Each symbol in this square represents a value. Can you
work out how much the question mark is worth?

See answer 94

@



PUZILE I E’

Two sides of these cubes contain the same letters. Can
you spot them?

See answer 82

2 1 2 1
c X | B Vv
3 8 3 8
F T D ?

J P G N
4 7 4 7

L M| K

PUZILE I ! I

Can you find the letter which fits in
the missing segment?

See answer 16

25
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MO[OQ|VIT|OJA|TIEJU]T WIE[H|T[E|O|G|M]O

A[TIKIVILIAIVICIHIAIEIMINIO[L|EJU[AIBIC]

FIS|THIA|IT[AIMIQIL|SID|T{CIKIEIN|SIS]|T (A

AIL[S|TIVIEIMWIMINIO|E[I JA[CIH|T[A|C|T

FIO|O|X(WIA|BIE[A[L|LIEJT[T[AWWIAC|G

G TIO|X{AIETA[KIFIAIKTTLIATAISIT [AWIN

O(N|F[B|C[H|J|KIW]L{L]|T{J

E[{NJO|L{FIM|G[O|Z|X[A]Y|INJA|E|B|E|C|W]|L
RIVIOIL{F] I {GJAJE|Z{I U] {E]J|{CIC[K]|T [P

EIWU[VIE[CIUIO|P|TIE|G[B|P[NIH|T|S]E|]I

CI|S|EW|X[H]L{H]|J[A|LIE|CIEIKIL|TJU|Z]K

UJA[TIA[EIE[CIKIUIWIPIQIR[AIRIAIE|PA|Z

AJUISITIEIN[XIA]T[AIQIW[AILJE|T|AW|V|E
HIA|P[E|X]|E[A|B|C[B|A|C|A|EW[W]E|X|L|E
CICIWIAIOIRIWIE[LILIKIMINJO|P|PIEJL]T U

PUZILE I E

In this grid are hidden the names of 18 famous

Michener

Hemingway

Austen

Huxley Orwell

Chaucer

go forward or

Proust

lbsen

Chekhov

authors. Can you detect them? You can

ontal, vertical and diagonal lines.

erse, in horiz

Tolstoi

Kafka

Dickens

See answer 38

Twain

Kipling

Flaubert

Lawrence Zola

Goethe



[ruzzLE)

There is a logic to the patterns in these squares but one
does not fit. Can you find the odd one out?

See answer 3

L

[Tz 47

Can you work out which mathematical signs should PUZZLE

replace the question marks in this diagram? You have .
a choice between - or +. Which letter replaces the question mark in this star?

See answer 10 See answer 30

Q



LEVEL 1

PUZILE I EI

These tiles, when placed in right order, will form
a square in which each horizontal line is
identical with one vertical line.

Can you successfully form the square?

See answer 88

PUZZLE Ei :I

Can you work out what the time on the
blank clock face should be?

See answer 20



PUZZLE Eﬂ

Can you work out which of these diagram is
different from the others?

See answer 138

4 3
z&%& £§

PUZILE EI

What comes next in this sequence?

See answer 63
] |
— 7

!-E-«

A B

puzzLeTY

Can you work out which of these symbols
is the odd one out?

See answer 140

22/
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41 3412 14 5252 42

53 24 44 1353 14 43 11 51
22 14 64 22 34 43

31 24 42 43 14 53 11 42

12 42 43 5251 14 13 31 24
53 14 41 21 14 24 31

63 14 43 224222 21

44 14 51 34 52 52 24

PUZILE EE

This is a simple grid code. The encoded words are all

names of famous painters.

(KE

PUZZI.EEH PUZILE Eﬂ

Each symbol in the above square represents a number. Can you find the missing number that fits into
Can you find out how much the question the sector of the last wheel?
mark is worth?

See answer 115

5

See answer 98 See answer 55

O



PUZILE E"

Which of these cubes cannot be made
from this layout?

See answer 36

PUZILE EEI

The diagram represent an old-fashioned telephone
dial with letters as well as numbers. Below is a list of
numbers representing 10 American towns or cities.
Can you decode them?

See answer 48

A. 214417 F. 65674152

B. 7217742 G. 2276537

C. 1331135 H. 1741571

D. 534918422 I. 1351355173

E. 53552165437 J. 352315165437
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PUZILE H:I

The symbols in the above grid follow a patter

g section?

and find the missin

you work it out

wer 60

See ans
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PUZILE Iil

The first two sets of scales are in balance.
Which symbol is needed to balance the third set?

See answer §

i ﬁ .
A B C
A % .
> e W
PUZILE IE PUZILE IE’
Can you spot the odd figure out? Can you find the letter which completes the star?
See answer 137 See answer 47

32



LEVEL 1

PUZILE IEI

Can you work out what mathematical signs should
replace the question marks so that both sections of the
diagram arrive at the same value. You have a choice
between + or X.

See answer 89

X

PUZILE I 3 i

Can you find the missing symbol in the last triangle?

See answer 76

o
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'ruzzLe[3d

W N e
=TS : Sy

SN T IR S N

his father protested.

. T
¥ PR TGN

Johnny told his dad where he meant to go.

Iy

.
il

said the relieved parent.
said .Iohnny‘.k

Johnny and his dad are not going diving,
or taking a trip in a glass-bottomed boat.
So how are they going under the sea
without coming to any harm?

See answer 45
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PUZILE IE'I

MATCH POINTS
Can you correct this sum by moving four matches?

See answer 26

PIIZZI.EIEI PUZZLE E:I

Each symbol in this square represents a value. A certain logic has been used in making this diagram.
Can you find out which number should replace the Can you work out what the secret is and replace the
question mark? question mark with a letter?
See answer 23 See answer 131

©



I3 7

Two sides on these cubes contain the same numbers.
Can you spot them?

See answer 107

PUZILE m

The mathematical signs in this diamond have been
left out. Reading clockwise from the top can you work
out what the question marks stand for?

See answer 108
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AlADIE[FIWIOIY[JIUJLITJA[RIOIBIEIR|T]S

CIDIUIS[T|IIN|H|O[F|FIMIAIN[BIRIM]O|N|L
KIAJOJL[WIO|LININ|Y[GIO|R[E[S|O|T[U|VID

KIMIGIE[N]EIW[IT|LID[E|RIW[O|L]|O[Z|B|R|R
ClA[S|KILIEMIUJO|T|L[BIW[J|L[K|KIE|G]|O

P[CIMIW[VIUIW[EJA| I [J]L|GIA|H|E[T|E|B|F

E|LIK[EIFIO[ZIMIA[A|T|H[EINJA[S|E|R[O|D

E|S|IO[A|L]L{AIMIA[A|O] I [EIE|O[H]| I JL[L{E

RIT{AIS|E|G|F{A[AIN|T|O[E{F|L]I|S|T[RI|R

TIOM|CIR[U| I |S[E|S|R[S|E|O|T|EJE[E|P|T

SIA|IO[EIE[BIW[B] I IMIQ] I [AIN|ETLIGIN]OIR

LI AJA[O|H|E|H|R[S|T|D]JA|B[D[{C|D|OJA|T [E
YIA[FIG]S|VIH|T{E[O]| | {BIK]A|R[S|CIE|{J|B

R{B|P|O[A|C|FIA[J|ZIN[A]Y]A[A]Y ]I [X]Q]O
EIN|O|Z]EJA]L[M]AJO|C|Y|H]F|O|G[H|EJL|R

MIA[E[TINJA]Z|E[N]TJAJCIL[EJA|H|C|I [M|B
C|PILIM{AIN|N]JVIW[X| I |E]JR|S[F|L]A]Z]O|N

NIUWIM[JF[G|Q[S|RIA[E|L|LJAIE|S[S|O|E

JIOINIY[FIG] | INJO|[SIPIMIO[H|T[AIMIM|E |F

Richard Gere

Jane Asher

[PuzzLEZ]

Hidden in this grid

Michael Caine

Julia Roberts

Brooke Shields

in

re the names of 16 well-known

pot them? You can move

< wn

actors. Can you

horizo

Hoffman

Dusti

Julie Christie

in a forward

nd diagonal lines
kward direction.

< U

or ba

ntal, vertical

uise

Tom C

Meryl Streep

hompson
Redford

=

Paul Newman

See answer 61

-

Rober

Jane Fonda

oster

[

Jodie

Gene Wilder



JWQA wm ch;';jffovm

XMzM 'r; KPIQAM
KPIUXA MTG/ !MMA

OIZM LM TGWV
IZK LM azqwuxm

A Here are the eoded names of some places in ?ans ,

Can you élscover thez:r 1dent1ty” .

 See answer“ o

35 20

28 21 16

12 24

&

S

Cc

.
&

A

@ @ES

PUZILE

l

Which of the following faces, A, B or C, would carry
on the sequence above?

See answer 90

B0 2

18 12 9

PUZZLE m

Can you work out which number should go into
the last square?

See answer 52
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[PuzzieEf)

These tiles when placed in right order will form
a square in which each horizontal line is
identical with one vertical line.

Can you successfully form the square?

See answer 77

o



PUZILE

Can you work out which symbols vou need
to balance the scale?

See answer 31

PUZILE

Can you work out what the blank clockface
should look like?

See answer 64
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is to

is to B as C

A

X7 82
See answer 121




PUZILE !:EI

Can you find the two sides on these cubes which
contain exactly the same symbols?

See answer 134

36 23 24 ?

[T7713 84|

Each symbol in the grid has a numerical value.
Work out what those values are and replace the
question mark with a number.

See answer 7
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LIWLIAJAIE]T{PIOQ[R[H|R]JAIE| T X[C[K|S
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G|A[E|C|C|W|V|R|A|E
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=
A
Z
L
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-
o
<
L
Ll
—
Ll
<
I
L
Ll
8]

O|A|B|A|JCIH|A|INJAJE]IX]T|A]|T|O|T|E|W
RILIOINJE|FIAIGIE|TI{W]Y[A|E| X[P[M[M
O|N[A[D[E|A]G]AJH|A|D|H[E[L|LJE
DIA|C|E[F[G|E[{W[A[N|E|A|E

N[A[E[K[M[O|Z[G[A[VIE[A[Z[C|K|L|P|E

A[CIE]I|R]IV[OfIS|P|T|Q]V|IR[W[BIR]|C|S

S[DIA[GIE|O]KIW|OJE]L]X

MIO[V[IX[Z[K[VIM[NIE[K[IE|C|V|A|P|J]|H

HL[W[X]|OIW[A[DIEIBIUISIS|Y[A[T|O|N

A{OI{W|P| X|B|E

RIA|CIA|S|CIHIUIBIE[R[TITIO[R[H[DIA
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PUZILE !'H

Hidden in this grid are 18 names of well-known

Mendelssohn

Mozart
Purcell

Dvorak

Grieg

Bach

Beethoven
Borodin
Brahms
Chopin

s. Can you find them? You can move

composer

horizo

Handel
Haydn
Lehar
Liszt

a forward

ntally, vertically or diagonally and in

Schubert
Vivaldi

or backward direction.

See answer 68

Wagner

Debussy



PUZILE rﬂ

There are two sides on those cubes that contain exactly
the same symbols. Can you spot them?

See answer 99

?

/‘\\
X
B

C

\\V
PUzELEET]

PUZZLE 88 The letters and numbers in this wheel are related in

some way. Can you find which letter should replace
Can you find the letter to complete the star? the question mark?

See answer 86 See answer 18

©
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[T7i13 81

Can you find the missing number which would
complete the diagram?

See answer 34

PUZILE E E

Can you work out which number the question mark
in the triangle stands for?

See answer 24

o
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Dr Arnold Gluck,

a psychiatrist in New

York, came across the

world’'s most enthusias-
e =4 tic bookworm during

7 (= \ 8= the course of his work.

Il

sy

A

=

RIS B ~ o L NEAe o (R 5] PRV
e had been one Sinee

imfanes Al he ever did was

devolighoolesh
Yet he never held down
a proper job and he
didn’t go to the public
library.
e hadn™t inherited momey, in

fact he was penniless.
So how could he get through all those
books?

See answer 44
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PUZILE EH

See answer 116

[PuzzLefH] [PuzzLef])

Each symbol in this square represents a number. In this diagram the mathematical signs (+ and — only)
Can you work out which number should replace the between each letter (which has a value equal to its
question mark? position in the alphabet) have gone missing. Can you

restore them in a way that you arrive at the letter in
the middle of the diamond?

See answer 78 See answer 83

o



A D

B E
G J M
NS AN
H K N °
[{771T3 97

Can you find the two sides on these cubes that contain
exactly the same symbols?

See answer 125

/:\
2
L
?
N,
2

PUZILE EH PUZILE EEI

This diagram was constructed according to a certain Can you work out whether + or — should replace the
logic. Can you work out which number should question mark to arrive at the letter in the middle of
replace the question mark? the circle?
See answer 124 See answer 143

(42
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PUZZLEI”I

Can you work out which two sides on these cubes
contain the same symbols?

See answer 13

YOIYEOAMM

@ Y>XAZAMHAY TPOAXE

@ AEETIZEHYO= HAXAEET
NA2ZBME AX['©O

BOI'AI=HOAN TTAMATE

@ MMITTAAIMMY TISTOT
f HEOTXEZOL TPDASE
YOANET ENBAEANEEY
WAYESMOO TYAYIO=
@ @ AIEHT T'LOTT
0 103

PUZILE m The above are the coded names of places in London.
Can you decode them? Only the vowels

A, E, I, and O and consonant B are correct.

Can you work out which is the odd ball out?
See answer 54
See answer 71

©
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PUZILE I I:z I PUZILE I I ' E

Can you replace the question marks with

Can you work out which of these letters is the + or - so that both sections in this diagram add
odd one out? up to the same value.

See answer 133 See answer 126

PIIZZLEI”!

Can you work out which number fits into the first triangle?

See answer 56

52
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( A\ -

A isto B as Cis to

Y o o> @

See answer 8

PUZILE I I'El

The diagram represents an old-fashioned telephone
dial with letters as well as numbers. Below is a list of
numbers representing 10 large cities from around the

world. Can you use the diagram to decode them?

See answer 92

A. 5151327726 F. 1153454

3417359 G. 11418771
C. 75845872 H. 524158652
D. 75542574 I. 116124551

815158826 J. 7116152575
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B
G ] M
I L o
()
H K N
07113 110 |

Two sides of these cubes contain exactly the same
numbers. Can you spot them?

See answer 57

PUZILE I I E
PUZZLE In this diamond the four mathematical signs +, -, x

and + have been left out. Can you work out which

Can you work out what number each symbol sign fits between each pair of numbers to arrive at the
represents and find the value of the question mark? number in the middie of the diagram?
See answer 59 See answer 17

o
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PUZZLE l I EI

The symbols in this grid follow a patter

n. C

an you

and complete the missing section?

work it out

74

See answer

Q=P ®|H|H Q=¥ H Q= >
- | Q(H|H | P @ = | QQ(H|® ||| Q|H|H
- | & |HIQIQ ||| ®|H | H|Q+ |+ | ®HQ
P I+IQQH|® |+ |QHH > P IO
H(H| Q== |® |H|QIQ+|® | ®|HH Q=
Q|H|®|=|=|Q|H|H P ® I+ |QQH|P
Q=P ¥ HIH Q=+ o HIQQ|+|>®
- | Q(H|(H|® ¥ = (QQH| ¥ Q| H|H
- | & |H|QQ H H Q=+ | ¥ HQ
- JF Jeglo IS - |Q|H[H | P ¥+
H|H Q|+ Q|+ |® | @ HIHQ
Q|H! ¥+ (Q|H|H > ¥ QI H >+
Q|| ®|HIHIQ=|7 2 H Q|+~ >
- | Q|H|H|® | ¥ = |Q|QH|¥ || Q| H|H
- | & |H|QQ|+|®|®|H|H Q||+ |®|HO
>+ QIQH|P|I+ |+ |Q|H|IH > P =IO
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PUZILE I I ! l

Which of these cubes cannot be made from this layout?

See answer 65

28 56

703 115 |

Can you work out the number needed to
complete the square?

See answer 80

7
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[0 116

Can you find the mathematical signs which should
replace the question marks in this diagram?

See answer 129

1

PUZZLE I I ﬂ

Can you crack the logic of this diagram and replace
the question mark with a number?

See answer 112

PUZZLE I I I'I

The four triangles are linked by a simple mathematical
formula. Can you discover what it is and then find
the odd one out?

See answer 2



The old man had been determined to
treat the grandchildren equally,
Al T wsny e dlfid)

ququququ

Why?

See answer 43
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PUZZI.EIE:.

These tiles when placed in the right order will form a square
in which each horizontal line is identical with one vertical
line. Can you successfully form the square?

See answer 85

PUZILE I E I

The diagram represents an old-fashioned telephone

dial with letters as well as numbers. Below is a list of

numbers representing 10 international capital cities.
Can you use the diagram to decode them?

See answer 79

A. 1562531325 F. 157726215
B. 661382 G. 775143545
C. 455255 H. 1545515

D. 126435 . 512632

E. 75405 J. 154161
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PUZZLE I m

Can you work out which sides on these cubes contain
the same letters?

See answer 142

PUZZLE I E l

Can you find out which letter completes the wheel?

Q

See answer 29
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ALL{LIL{I[H|CIRIU[H|CIE|T[PW]O([L|I {J]|L
MIO[N[E|DIA[L|O|X[E|GIH[N|X|E[F]A]JL[A]E

Al XIOINJA[E|CIEJAIL[E[I|S|PJE[E|T|F]A]E

G| | JA[JAIOINJEJAIBICIAIF]I [AJAWIS|UIP |V
NIGI{T{EJAJA[{I|YID[EININ[E|K|O[U|S]|L|E|E
Ul S[AIR|G[H|AIN[FIAJO[SIE|L[T[A]Il [X|O]|H

TIP{FIE[QIRIAJA[E|CIS|E]F[AJL[N|T[AJU|C

E| FIAIH|SIR[A|JE|JH]EJA[EIN]JA|CIH|I [A]E]A

S|IAIE[CIEJA[FIEJA[EJOIN[S|OJA[T|NJA[F|B
TIL{O|TJA|O|T|EJAID|FIAILIPIE[R]I|T|O]|R

OfLIT{A[A|S|A[A|FIE[G|NIJA|E|R|L|L]|O|M|O
Al IIN[H]O|F[S|A|F[G|P|Q[RINJA[E|OIM|E |G

M E[A|T[B|C|E[A|D[A|D[AJU[I |F|O|S|P[X|M

LIM[O[X|MIN|O|P|QIUIRI|S|T|S]A[U|S|X|A]O

WIVIAIE|X|FIOJH|{J|LJA[A|T|T{U|BJU|C|WIN
O Z|X[A[E|F|A]JO|Z|L]A|E|H|L|{U[F[M[RA|Z
AlEIN|O| I [RIU|IGIN|E[B|F|A|E|E[A|K]|L|M|N
OfZIA|DIAICIA[H|P|TISIRIS|Y|T|RIA[E|L M

[T 125 |

The above grid contains the names of 18 famous

Ben Gurion

Gandhi
Napoleon

Arafat
Mussolini

Kennedy

Churchill
Stalin

Bismarck

Gorbachev

them?

statesmen. Can you discover

Pinochet

Lincoln

See answer 93

Mao Tse Tung
Franco

Yeltsin

De Gaulle
Mitterand

Thatcher



‘ PUZZI'E Can you work out which of these balls is

the odd one out?

Can you replace the question marks in this
diagram with either X or + so that both sections arrive See answer 111
at the same value?

See answer 117

24 39
e

7'__8 | 4?

UZZI.E

Can you work out which is the odd number out?
Can you find the missing letter in this star?
See answer 118

See answer 70
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See answer 103

PUZILE I Ea

Can you unravel the reasoning behind
this diagram and find the correct letter to replace
the question mark?

See answer 4




PUZILE I EEI

Can you work out which three sides of these cubes
contain the same symbols?

See answer 102

[ 134 |

Each of the symbols represents a value. Which symbols
would you need to add to balance the last scale?

See answer 14

&S
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B[+[+[+]x[x[e]e]o][m[m[+][+]+]x
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D2 C4 A2 AE D2 D4

C5 B4 AB D2 D2 AS
C2B4 A3 B3 ABCLCLAS
E2 C4 C1 Bl B2A1C3 B2
A4 C4 C1L C4 D2 A5 D3
D3 84 €3 AL AL A4

D2 AL A3 B3 A5 C1

C2 A1 B2 C3 D8 B3

lruzzLe RELY

This time the code is a little more difficult. To help you
we will give you a clue. The coded words are first names
from around the world.

See answer 139

PUZILE l Eﬂ

Can you work out the rule these triangles follow and
find the missing number?

See answer 69

(67
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10 7 8 12 15 9 7

PUZILE I Ezll

Can you work out which number should replace the
question mark in the square?

See answer 67

X7

A

P
A
P

ZTN
MBG
O 4> BJ?

PUZZLE
PUZZLE Can you find the letter that should replace the

question mark?

Can you find the odd one out of these symbols?
See answer 50
See answer 120

©

11



50 £ o <

PUZILE I I i I

Can you work out how many suns should replace the
question mark, so that the scales balance?

See answer 73

[0 142 | [{T121T 143

Can you work out which number should replace the
Can you find the letter that would complete the star? question mark to follow the rules of the other wheels?

See answer 91 See answer 32

o
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Answer 1

A. California F. Oregon
B. Texas G. Virginia
C. Nebraska H. Florida
D. Alaska L Colorado
E. Idaho J. Arizona
Answer 2

C. The number in the middle is the sum of the
squares of the numbers at the points of the
triangles. C does not fit this pattern.

Answer 3.

B. The number of sides of the internal figures should
increase by one each time. B is the odd one out
because its internal figures should have 2 sides.

Answer 4

N. Multiply the two numbers in each segment. Their
product is used to represent a letter (based on its
numerical position in the alphabet). This letter is
put in the segment diametrically opposite the
original numbers.

Answer 5
One sun. The values are: Cloud = 3; Umbrella = 2;
Moon =4; Sun = 7.

Answer 6
6+7+11=3x2+5-12=9.

Answer 7
23. Square = 9; Cross = 5; Z = 6; Heart = 7.

Answer 8
E. Turn the diagram by 90° clockwise.

Answer 9

27. A number in the first circle is squared and the
product is put in the corresponding segment of the
second circle. The original number is then cubed
and that product is put in the corresponding
segment of the third circle.

Answer 10
F-B+]-B=1L

Answer 11

The pattern is a horizontal
boustrophedon starting at the
top left. The sequence is: 3 stars,
2 circles, 2, squares, 3 crosses, 2
stars, 3 circles, 3 squares, 2
crosses, etc.

AL
+ |l
dL

Answer 12
E. It contains no curved lines.

Answer 13
B and H.

Answer 14
4 moons. Sun = 9; Moon = 5; Cloud = 3.

Answer 15
E.

Answer 16
Q. The letters are in the following alphabetical order:
miss one, miss two, miss three, miss one etc.

Answer 17
4Xx7 =24+8+9x6+3=62.

Answer 18
B. The value of each letter in the alphabet is
two-thirds of the number in the opposite segment.

Answer 19

10. Replace each letter by the value of its position in
the alphabet. Start at E and add 1, then 2, then 3,
then 4, then 5, then 1, then 2 etc. When you reach

26 (£), go back to 1 (A).

Answer 20
6.20. The minute hand advances 20 minutes each
time, the hour hand goes back 2 hours each time.

Answer 21
19. Starting from D, each number, or its alphabetic
equivalent, advances three.



Answer 22

A. Letters represent values based on their position in
the alphabet. In each column, subtract the letter in
the middle row from the letter in the top row and
place the answer in the bottom row.

Answer 23
33. Star = 8; Tick = 12; Cross = 13; Circle = 5.

Answer 24

2. The faces represent numbers, based on the clements
in or around the face (excluding the head). Multiply
the top number with the bottom right number and
divide by the bottom left number. Place the answer in
the middle.

Answer 25

A. Pattern is: 2 by arch on top, 4 by arch at right, 3 by
arch on bottom, 2 by arch at left. Start at the top left
corner and move down the grid in verticai lines,
reverting to the top when of the next column when
you reach the bottom.

Answer 26

XXTXXV=XLV

Answer 27

The orderis 2 +,3-,2+,3x. The
puzzle goes in an inward
clockwise spiral starting from the
top left corner.

X[+~
+|X|X

Answer 28

V=]

Answer 29

L. Add the value of the two letters in each outer
segment, based on their position in the alphabet,
and place the answer letter in the opposite inner
segment.

Answer 30

R. Multiply the value of the three earliest letters, based
on their value in the alphabet, by 2. The answer
goes in the opposite tip. I (9) x 2 = 18 (R).

Answer 31
Five suns. Moons = 2; Cloud = 3; Sun = 4.

Answer 32
3. The numbers in each wheel add up to 30.

! Answer 33

l 11 | |
L] 1

L

Answer 34
4. Imagine these are six-digit numbers. Add the
bottom line to the middle line to get the top line.

Answer 35

8. Starting at H, and working clockwise, subtract the
value of second letter, based on its value in the
alphabet, from the value of the first letter, and put
sum in following corner.

Answer 36
C.

Answer 37
Napoleon, Churchill, Truman, De Gaulle,
Kennedy, Ho Chi Minh, Gandhi, Mandela.

(72
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Answer 38

Austen
Hemingway

Michener

Chaucer
Huxley

Orwell
Chekov

ibsen

Proust
Dickens

Kafka

Tolstoi
Flaubert

SSolciomolm|olo

Kipling
Twain

Goethe

Lawrence
Zola
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Answer 39

21. Add all the numbers of each triangle together and

place the sum in the middle of next triangle. When
you reach D put the sum in A.

Answer 40

The water in his garden was snow. He rolled
several giant snowballs, built a pyramid and
climbed onto the porch.

Answer 41
She was planting her mother’s shoe tree.

Answer 42

Jim had moved from his home town years ago. He
was watching the floods on the TV news. His wife
had never liked the place anyway.

Answer 43

The old man had given them time. He left each of
them the equivalent of their annual salary so that
they could have a year to do what they liked.

Answer 44

This was a real bookworm, a bug that nibbles its
way through books. Dr Gluck found him dining off
his reference books.

Answer 45
Johnny wants to go through the glass tunnel at an
aquarium.

Answer 46
Because three of them are on my wrist watch.



Answer 47

S. Look at opposite triangles. D is 4th letter of the
alphabet, W is 4th from the end. F is 6th letter,
while U is 6th from the end. H is the 8th letter, thus
the missing letter is the one which is 8th from the
end,

Answer 48

A. Dallas F. Portland

B. Seattle G. Detroit

C. Chicago H Atlanta

D. Milwaukee 1 Cincinnati
E. Minneapolis J Indianapolis
Answer 49

G. Add 2 elements to the body, take away 1, add 3,
take away 2, add 4, take away 3.

Answer 50

B. In each column, divide the value of letter on the top
row, based on its position in the alphabet, by the
value of the second row letter to get the letter on

the bottom row.

0 Answer 51

N W

= O
m é
W} N

[B_6]|2

Answer 52

15. Start at the top left corner and add that number to
each corner in a clockwise direction, eg. 7 +7 =14 + 7
=21+7=28+7=35.

Answer 53
F+I+E=-J+N-Y+H=1L

Answer 54

Whitehall, Trafalgar Square, Kensington Gardens,
Marble Arch, Buckingham Palace, Piccadilly Circus,
Grosvenor Square, Thames Embankment, Waterloo
Station, Kings Cross.

Answer 55

72. Multiply all the numbers in the top sections to
arrive at the number in the opposite bottom section.
Multiply by 3 in the first circle, by 6 in the second
one, and by 9 in the third circle.

Answer 56

825. Multiply the value of the letters, based on their
value in the alphabet, from each triangle and place
the product in the next but one triangle to the right.

Answer 57
A and L. The numbers are 3, 4, 6 and 9.

Answer 58

4. Multiply the two numbers in the outer circle of each
spoke and place the product in the inner circle two
spokes on in a clockwise direction.

Answer 59
35. Star = 6; Tick = 3; Cross = 17; Circle = 12.

Answer 60

Start at the top right corner and
work in an inward spiral. The
pattern is: two ticks, one heart,
two faces, one tick, two hearts,
one face, etc.

VOO
©|v|v
©|¥|V

Answer 61 - See page 74

Answer 62

Arlington, Bethesda, Columbia Pike, Silver Spring,
Mount Rainier, Chevy Chase, Georgetown,
Anacostia. U=A,Z=F A=G, T =27, etc.

Answer 63
16. Add 2, subtract 1, add 4, subtract 2, add 8, subtract
4, add 16, subtract 8.

Answer 64

6.50. The minute hand moves back 5, 10 and 15
minutes, while the hour hand moves forward 1, 2
and 3 hours.

73
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AWINIWIOICIHIKITIVIEIN|TJAICIYIXI|O] answerez
AN E[FIW[OY[ATU LI TAIRIOIBIEIRITIS e aener
ClONNSITILNHIOIE[EIM[AIN[B]RIM[O[N[L] Richard ere
KAJONJWIOTLININ]YIGIOIRIEIS O T [UIVIDL  icnacr come
KMGIERNFEIW[TLD[E[RW[O[L [O[Z[BIRR]| Metaison
C AlS K L\\EM U[OIT|LIBIW T L K K//E/G 9) Julie Christie
PLCIMNWIVIUNWIETAT T T TL[GIATHTERTAE IBIF]  peisiees
El LI|KIERF O] ZIMTA[A [T |HABDIN[AISHE |R O D|] Tom Cruise
E[ S[OTAFILTA[MIYA [OIVE [EFOMRI T [LTLAEI|  Emma mhompson
RILT[AISIEYGLE[A[ANNTIOEAENL [TIIS|TARARI] jane Fonda
T O M C Q U\\\I\\S D/s//R S//E/O T E E//E//P T Gene Wilder
Sl A[OJETEBIWIBKIL IMIQVIAAINIE ILHGANTO R[] o Fo=t
LI AATO[RIE[BIR¥SITIDIA B IDICIDIO AT [E
YI A FIGISIVIarT TEXOX [BIK|BIRIS[CIE[J |B
Rl B[P O[AVCIFIA IO AN A Y AYATY T [X]O]0
EIN[O[ZHEXA[LIMIA[OICIY/IMFIO[GIHIE[L[R
M Al EVNIAZ [EIN[ T IAICILIE[AIHICI T V(B
ClPYUMIAININIVIWIXVIYE [RISF[L|A|Z]O|N
NYOIVIM[U[F[GIQ[SIRTAIE[L|LIA|E[S|S|O|E

OINIYTFIG] T I[NTOISTPIMIOTHITIAIMIMID[ F |
Answer 65 Answer 69
D. 21. Find the value of each letter based on its position
in the alphabet, then add the values of the top and
left corner together. Subtract the bottom right
Answer 66 corner from this number and place the new value
Bois de Boulogne, Montparnasse, Madeleine, Pere in the middle of the triangle.

Lachaise, Champs Elysees, Gare de Lyon, Arc de

Triomphe, Montmartre.The code hereis: [ = A, Z =R,

A=5H=1Z, etc. Answer 70
Q. Reading clockwise from the top, numbers
correspond to the alphabetic position of the

Answer 67 following letter.

8. Subtract the bottom left corner from the top left

corner. Now subtract the bottom right corner from

the top right corner, then subtract this answer from Answer 71
the first difference and put the number in the 16. All the other numbers can be divided by 3.
middle.
Answer 72
Answer 68 - See opposite page M X O. The first line values of letters, based on

their position in the alphabet, increase by 3. The

Q
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G|A[E[clcIW|VIR[ATE] I X]|TIM[O] L]A]D] ...,
B[ E| F|H| A| E[CTETH[A[R| U] OxHN| K|M[ X]| Brerak
O| A|BTIALCIH A|IN| A E| X| TYA{/TIOLT | E[W] seetnoven
R LO[IN[E[ FIA[lG E[ TIWIRLA E[ XRSIM[[A]  morart
Ol N| ATD{ E[ Al GIIAH] AVDYHT ET LT LT ERNYEL  Foreer
D A[C|lE]| Fl Gl EIW[ AIQWE| Al E| | Ml C] ONNY|  Bureelt
|| U] FICTCSIZI DI BIE|N[ T| V/O/W| L[ C|D] Havan
N[ Al E| KM O] ZLG Al V] E{ AVZ1Cl K| L P[E]] cnopin
o S|®RIA|E[ KV EVBI E[O[ BVAYRITTUTEK[IL]  vivates
LW AN EV POl RIHIBYATE T x| cK[IS] Doae™
AlClE| rFaXV]o|s|PlTrO|VIR|W|BIR|C|iS] W
Q| p| AlGIETOLK|W] Ol E] LI XNYWI N[ Ul T|D

M| of v x| z| KNI NE] K| E] cNYA P JTH

HI L{w| x] o|wl| AJQLEIBIUlsIsIyvrakT| ol
Alolwlplxi{BlE|l I|ElP|OlO]Z] Al cCNOKT W

Ri Al c| AlSICTHIUIBIEIRIT T| o R| HIDRA

Bl B|c| F[k|L[m[N|T[Alc|TlO|A|R|Z]WND

s ierenae oy 1S Py dandtthe thire fine @ 05 e op of the wiangies, then alon

the bottoms. Each circle is filled one quarter
more until the circle is complete, then reverts to
Answer 73 one quarter filled.
Six suns. Values are: Sun = 6; Moon = 7; Cloud = 9.

l4 4 5| Ib / m Answer 77
Answer 74
' :': V Start at top left corner and move 4] 372] 4] ._‘.5_
in a vertical boustrophedon. The 5112 6| 2T 4 1[0 9
j: ' ' order is two hearts, one square —
root, two crossed circles, one 6 4 I 8 9114 5 2
g v ' cross, one heart, two square
roots, one crossed circle, two _Z 5 4 9 7 2
crosses, etc.
’ 8 0] [@ 7] 13 2
Answer 75 sl
Little Italy, Greenwich Village, Manhattan, Times 9 *—Z-J 0 B] IZI
Square, Gramercy Park, Soho, Central Park, 0Ol 3 19

Chinatown.
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Answer 78
40. Star = 7; Tick = 8; Cross = 14; Circle = 11.

Answer 79
Copenhagen, Prague, London, Berlin, Tokyo,
Amsterdam, Stockholm, Colombo, Madrid, Ankara.

Answer 80

42. Take the number in the middle of the square,
divide it by the number in the top left corner and
place the new number in the bottom right corner.
Again take the middle number, but now divide it
by the number in the top right corner and place this
new number in the bottom left corner.

Answer 81
55. Add the two last numbers together.

Answer 82
E and 0. The letters are N, O, P and X.

Answer 83
1.00. The minute hand moves forward 20 minutes, the
hour hand moves back 1 hour.

Answer 84

B. Start from top left corner and move in a vertical
boustrephedon. Order is: 4 smiley face, 1 sad face, 3
straight mouth, 2 face with hair, etc.

Answer 85

Answer 86

Z. Take the value of the letters, based on their position
in the alphabet. A back 3 is X; X forward 4 is B; B
back 3isY; Y forward 4 is C, etc.

Answer 87

7. Add the three numbers at the corner of each
triangle, multiply by 2 and place that number in the
middle.

Answer 88

Answer 89
Top half: %+ x; bottom half: x x.

Answer 90

A. Add one new element to the face, then add one hair
and an element to the face, then a hair, then a hair

and an element to the face, repeat sequence.

Answer 91
A. Based on the alphabet, starting at B miss 2 letters,
then 3, then 4, etc.

Answer 92

A. Manchester F. Bangkok

B. Glasgow G. Calcutta

C. Toulouse H. Melbourne
D. Smolensk I Barcelona
E. Vancouver ) Sacramento

Answer 93 - See opposite page

Answer 94
39. Star = 9; Tick = 6; Cross =3; Circle = 24,

Answer 95
Piccadilly, Copacabana, Guggenheim, Etoile,
Whitehall, Madeleine, Central Park, Colosseum.
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FIA[LIE|FIT/DIE[XWEKICIRIAIMIS[TIB|P [X| Arafat
Al LICICTTHYCTRIOTHIOIE [T [PIWIOTLIT {J L] Wussotin
M| O|N|EJXDIA[LIOIX|E[GH[N|X]E|F AL [A]E gon Gurion
A X O/’N//A E/C//E A L E | S/@ E E T F A E N.apoleon
Gl LAYAIORIETA[BICTA[EYIAATAW[SU[P [W]] Bremarck
N[GYT [EFAA | ITIDIEINAIEKIO[U[STO[E[E]|  Fecn
Ul SIARIG R AIRYE [AIOISTE[L[T [AVIAX[OJR]]  Sharcrit
TIPIEXE[QIRIAMAEXCIS[E[FIA[LIMT[A[U[C]| st
Ef FIA|H S/R//A E/'H//E A E \N\A/C/H rIT A|E [A MaoTse Tung
SIATE [CHETATEVEXATE[OINISIOYA [T INATF[B]]  Mrateher
T L[OJTIA[OIIE [A DI FIATLAPIEIR T[T [O]R]  Miterns
O LI ATA TS TAYAE[EIG RTYA [E [RITIL[O MO
AVNTH[OFIS [ANSGIP QR INJA [ENOIMIE [
IVE[ATTIBCE[A DYAIDIA [UT [ F O [SIPIX M
L[M[O[X[M[N[O[P [Q[UIRIS T [S][A[U[S[XIAID
W V[A[E[X[F[O[H[J LA T]T[UBU[C Wi
O|Z[X[A[E[FIA[O[Z|L[AIE [H|L[U[FMI[R]A[Z
Al E[NO[TIRIUIGINEIBIF[A{E[E[AK[CMIN
O[ZIA[DIA|CIAIHIP|TIS|RIS|VITIR[AIE|L M
Answer 96 Answer 100
One arrow pointing up. 6.45. The minute hand moves back 15, 30 and 45
minutes. The hour hand moves forward 3, 6 and 9
Answer 97 o
14. Multiply the number on the left of the triangle by
the number on top, take away the number on the Answer 101
right from this product and put this number in the A diamond.
middle.
Answer 102
Answer 98 B, F and N.
68. Square = 7; X = 11; Z = 3; Heart = 17.
Answer 103
Answer 99 F. The numbers made up of odd numbers are reversed.
I and K. The figures are: matchstick man, triangle,
half-moon, circle, stile.
Answer 104

4. The number relates to the number of shapes in
which the number is enclosed.
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Answer 105
Chicago, Kansas, Houston, Birmingham, Detroit,
Atlanta, Phoenix, Memphis.

Answer 106
27.2+3=54+44=9+5=14+6=20+7=27.

Answer 107
Eand L

Answer 108
- = X.

Answer 109

Elton John, Freddie Mercury, Lisa Stansfield, Sinead
O’Connor, Meatloaf, Madonna, Michael Jackson,
Rod Stewart. A=J,Z=1.

Answer 110
D. The large letter turns 90° clockwise, the small letter
turns 180°.

Answer 111
26. The digits in each of the other balls add up to 10.

Answer 112
2. Relates to the number of shapes which enclose each
figure.

Answer 113
Oregon, Nebraska, Nevada, Wisconsin, Florida,
Virginia, Texas, Colorado.

Answer 114 )
Chekhov, Brecht, Wilde, Beckett, Genet, Goethe, Ibsen,
Racine.

4 3 21

Answer 115

Picasso, Rembrandt,
Gaugin, Leonardo,
Constable, Raphael, Van
Gogh, Matisse. A = 1:4;
B=13C=12;, D=1:1;
E = 2:4, etc.

N Ul W W N =

Answer 116

D. Letters with only curves stay the same, letters with
curves and straight lines turn by 90° and letters

with only straight lines by 180°.

Answer 117
Top half: X %; bottom half: + X.

Answer 118
31. In all the other numbers the first digit is smaller
than the second one.

Answer 119

Gazpacho, Mulligatawny, Borscht, Minestrone,
Chowder, Avgolemono, Cock-a-Leekie,
Bouillabaisse. A =1, Z = 26.

Answer 120
The diamond. 1t is a closed shape.

Answer 121
G. The internal patterns are reversed.

Answer 122
15. All the other numbers have not got a divisor.

Answer 123
Vivaldi, Beethoven, Grieg, Bizet, Mahler, Wagner,
Mozart, Elgar.

Answer 124
3. The numbers refer to the number of shapes which
surround each digit.

Answer 125
K and O.

Answer 126
Top half: + +; bottom half: + -

Answer 127
F. The symbols are reflected over a vertical line.



Answer 128

Heathrow, Fort Worth, Ben Gurion, Las Palmas,
O’'Hare, Gatwick, Haneda, Shannon. A = R; B =S5,
etc.

Answer 129
5x4+2+7=17.

Answer 130
D and L.

Answer 131

C. The letters represent values based on their position
in the alphabet. They represent the number of
straight-sided figures in which they are enclosed.

The circle is a red herring,.

Answer 132

Julia Roberts, Burt Reynolds, Jack Nicholson, David
Niven, Marilyn Monroe, Jeremy Irons, Audrey
Hepburn, Winona Ryder.

Answer 133
K. Only the K has serifs.

Answer 134
C and K.

Answer 135
Coq au vin, Paella, Dim sum, Sushi, Bratwurst,
Hamburger, Spaghetti, Vindaloo. A = 20, B = 21.

Answer 136
Top half: + =; bottom half: = =.

Answer 137
C. It has an odd number of elements, the others all
have an even number.

Answer 138
C. In the others the small shapes added together result
in the large shape.

Answer 139

Robert, Pierre, Michelle,
Wolfgang, Dolores, Sinead,
Rachel, Magnus.

Answer 140
C. The symbol consists of 3 parts, the others only of 2.

Answer 141
Asimov, Balzac, Hemingway, Joyce, Maugham,
Miller, Proust, Twain.

Answer 142
E and M.

Answer 143
M=E+B+D=N.

(7o



YOUR PUZILE NOTES



ARGANTUA, the super-computer that con-
trols communications and transport in
most of the developed world, has gone
haywire. Dr Ben Eischrank, the comput-
er's inventor and guardian, was carrying out routine
maintenance when a freak electric shock hit him.
Now the world is plunged into chaos. Only you,
Eischrank’s trusted assistant, can restore the com-
puter to normality. But there is a problem. The doc-
tor was so insanely jealous of anyone touching his
invention that he guarded it with a fiendishly intricate
system of enigmas to prevent unauthorized access.

Can you penetrate this mental maze and save the
world? The solution to each puzzle will tell which you
should tackle next. When you have worked your way
around the maze you will receive a code number
which allows access to the computer. But hurry, for
as you work a video screen on the laboratory wall
shows the devastation which is sweeping the earth.
Planes plunge from the sky, whole cities are blacked
out, panic and devastation are spreading like the
plague. Don’t delay, begin now! It is vital that you
write down the number of every puzzle you complete
in the order in which you complete it.

©



GARGANTUA

Five boys are going to visit relatives.
Tom goes to Georgia, Sid goes to Hawaii, William
goes to Dakota, and Orville goes to Louisiana.
Does George go to
This diagram represents a treasure map.

i The treasure is under the square marked with
R) wy?mlng an asterisk.You are allowed to stop on each
B) California square only once (though you may cross
C) Tennessee a square as often as you like). When you

stop on a square you must follow the

D) Oregon instI;uo:tionsq you fi’nd there. The letters
E) Alaska? stand for points of the compass
If you choose A, go to 22. N = North; S = South; E = East; W = West
If you choose B, go to 11.
If you choose C, goto 7. and the numbers stand for the number of
If you choose D, go to 16. squares you must travel (e.g. a square marked
If you choose E, go to 10. 3SW would instruct you to move three

squares South West). In order to find the
treasure which square would you start on?
, When you have the co-ordinate
PUZILE (one letter and one number) add 15
to the number and go to the
See answer 1 corresponding puzzle.

A B C D E F G H

2E |2SE} 35 | 4E | 1S |1SE| 45 | 1W
1ISE| IN | 35S | 3w | 3w | 28 1S 28
Below are seven 6-digit numbers all of which can be sk | 48 | as |aswl 2s | 3s linw| 1N
divided by 136 with no remainder. They all begin with ’
3NE | 2SE | 3NE |INW|2NW| 4W | 2W [3NW
117 but the other digits have been concealed. Can you
4N | 1S j2NW| 2W 13SW | 2NE | 2SW | 1SW
work out what they are? When you have done so, add
together the final digits of all seven numbers, subtract 25 |1SW|2NW] 4N | 3E |2SE| 25 | 1S
2 and go to the puzzle indicated. 3E | 3 | 3E | 3N | 3W | 15 | 3N j2NW
3E 3E | 2N |3NW] 2N | INE| 4W | 3N
??
?7??
117 27? P“ZZLEB
?2??
227
292 See answer 3
272

PUZZLE E

See answer 2

OO N R



Look at the grid. Can you discover the logic used in its
construction? When you have done so you will be able
to replace the question mark with a letter. If you
choose B, go to 35. If you choose H, go to 23. If you
choose ], go to 17.

PUZILE l I

See answer 4
A B
C D

2 3
7 0 1
1 8 2 2
4 2 2 5
2 9 3 0

PUZZLEEI PUZZI.EI!

Find the odd one out. If you choose A, go to 14. Which number replaces the question mark?
If you choose B, go to 17. If you choose C, go to 20. Add 24 and go to a new puzzle.
If you choose D, go to 15.

-~

See answer 6
See answer §



GARGANTUA

PUZILE n

Which sector correctly fills the blank? 1f you choose A,
go to 10. If you choose B, go to 13.
If you choose C, go to 34.

See answer 7

The diagram on the right represents a treasure map.
The treasure lies under the square with an asterisk.
You are allowed to stop on each square only once
(though you may cross a square as often as you like).
When you stop on a square you must follow the
instructions you find there. The letters stand for
points of the compass

N = North; S = South; E = East; W = West

and the numbers for the number of squares you must

travel (e.g. a square marked 35W would instruct you to

move three squares South West). Which is the starting

square? When you have the co-ordinates 12 to the digit
and go to the puzzle of that number.

lruzzLE )

See answer 9

* Al's Diner has a unique menu. Al has hisown
- special way of calculating his prices. Can you work -
. out what it is and discover what he charges for -

‘Doner Kebab? Add the digits in that number, add

. 17andgo tofﬁthg‘ant puzzle. i

See answer 8

A B €C D E F G H

28 |1SE| 2w | 38 | 45 | 2w | 1SE | 3w
a8 | 2F J2swiz2sw}l2s | 1E | 18 | a8

INEf 45 | 35 | 2W | 2W | % | 45 |2NW

1SE | 45 | INE |3NE| 3sE 3W | 1SE | 3N

N | 15 | an | 2NE] 3sE ] aN [anw]1sw

4E | 2E |2SW|2NE{1INE]2NE| 25 [25W

2NE | 1SE |]2NW]4NE| 1W { IN | 3N | 2w

O~NOOG A WNR

IN | INE j2NW] 3N | 1IN | 2W | 3N | 3W




1
25 | 1
2\1\ 6
16 10
15 | 13
2 3
46 | 28 ?2 | 5
70 55
66 58
61 | 60

PUZZI.E“:I

Can you work out the logic of this diagram and
replace the question mark with a number? When
you have the correct number subtract 45 and go to
the puzzle of that number.

See answer 10

PUZZLE I I I

Look at the grid and work out what should go in place
of the question mark? Subtract 5 and go to the puzzle
whose number you now have.

See answer 11

©
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GARGANTUA

OQ (1A 2
PUZZI.EIE

The shapes in this grid appear in a set order. Work out
what that order is and fill in the last square. If you
choose Diamond, go to 16. If you choose Circle, go to
5. If you choose Heart, go to 13. If you choose Triangle,
go to 17. If you choose Moon, go to 10.

See answer 12

35 27

11 51 12 20

PUZILE I EI

These clock faces follow a pattern. Can you work out
what the second clock face should look like? Add the
number indicated by the hour hand to the number
indicated by the minute hand, add 12 to that sum and
go to the puzzle indicated.

See answer 13

90 42 4 97

puzniefT]

Find a number to replace the question mark in Triangle D.
Add 6 to your answer and go to that puzzle.

See answer 14



PUZILE I E

Can you work out which number should replace the
question mark in the last square? When you have the

number subtract 36 and go to the next puzzle.

See answer 18

[PuzzLeRT)

Can you work out which number should replace the
question mark? When you have the number subtract 21
and go to the puzzle of the resulting number.

See answer 16

7

‘\’
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GARGANTUA

RS

puzzLEREd puzzLERE]

This square follows a certain pattern. Can you work it Can you crack the reasoning behind this spider’s web
out and replace the question mark with a letter? If vou and find the missing letter? If you choose Z, go to 31.
choose M, go to 16. If you choose D, go to 30. If you [t you choose V, go to 23. If you choose M, go to 13.

choose H, go to 27. If you choose F, go to 2.
See answer 18
See answer 17

(f é@/""' % : ' f 7 . 7 0 Five boys travel abroad by ship. Andy boards

; the Elizabeth 11, John travels on the Norway,
- Peter sails on the Tasmania, Nick chooses the
(fd/’( 5“000 f 2 .;7 0 Rover. Which ship does Larry board?
&a/(a/ Marnier  £3.20 A) Enterprise

B) Sea Sprite

Chints £7.80 D) Noptunm

5%/(40 £7.60 E) lolanthe
puzziefT] o chooe B, e,

If you choose C, go to 32.

In Maria’s Bar the prices for drinks are calculated in If you choose D, go to 28.
an unusual way. Can you work it out and find out If you choose E, go to 5.
“the price Maria charges for Whiskey? When you
have the price discard the dollars and subtract 66

from the remaining cents. PUZILE

You will then have the number of the next puzzle.
‘ : See answer 20
See answer 19



0 O O

puzzLEE3] 4 )

Can you work out the logic of this square and find the
missing number? When you have your answer
subtract 163 and go to the puzzle of that number.

See answer 21 B

]l oS
O

@ N

[{71T 23
O

Each of the following girls has to work on a project
o N O about a famous statesman. Yvonne chooses Bismarck,
N

Henrietta chooses Stalin, Trudie decides to work on

7 Gandhi, Irene picks Roosevelt and Virginia chooses
c D Eisenhower. Who of the following does Natasha
choose:
a) Churchill
b) Mao
c) Charlemagne
PUZILE d) Reagan
e) Sadat
Which of the above diagrams does not follow the same
rule as the others? If you choose A, go to 17. If you If you think the answer is A, go to 6.
choose B, go to 6. If you choose C, go to 29. If you If B, go to 19. If C, go to 31.
choose D, go to 30. If D, goto34. If E, go to 15.
See answer 22 See answer 23

©



GARGANTUA

PUZILE E I

Can you find the number which should replace the
question mark? When you have it add 2 and go to
the next puzzle.

See answer 24

T\
O

PUZILE
:m PUZILE Ei

Look at the diagram and replace the question mark

with a letter. When you have the answer convert the Can you find out which letter should replace the
letter into a number by using its position in the question mark in this spider’s web?
alphabetical order (A=1, B=2... Z=26), subtract five If your answer is K, go to 29. If you choose U,
and then go to the puzzle of that number. go to 18. If your answer is G, go to 7.
See answer 25 See answer 26



[PuzzLefT)

Above are six 6-digit numbers each beginning
with 115. All the numbers are divisible by 173 with
no remainder. Which digits do you need to complete
the numbers? Add the last digits of all six numbers

together, add 8 and go to the puzzle whose
number you now have.

"t
L ]

See answer 28



GARGANTUA

[73 29|

Can you work out the logic behind the letters on these
squares and find the one that should replace the question
mark? If you choose F, go to 29. If you choose K, go to 16.

If you choose Y, go to 3.

See answer 29

PUZILE E! :I

The question marks in this grid have a numerical
significance. In fact they are all related to the same
number. When you know what that number is,
subtract 7 and go to the next puzzle.

See answer 30

52




PUZILE Ei I

This diagram represents a treasure map. The treasure
lies under the square marked with an asterisk. You are
allowed to stop on each square only once (though you
may cross a square as often as you like). When you
stop on a square you must follow the instructions you
find there. The letters stand for points of the compass

N = North, S = South, E = East, W = West

and the numbers stand for the number of squares you
must travel (e.g. a square marked 35W would instruct
you to move three squares South West). In order to
tind the treasure which square would you start on?
When you have the co-ordinate, add 10 to the digit
and go to the next puzzle.

See answer 31

T
A

ABCDEFGH

sNw| 3NE | 2NE [onw

PUZILE EE

Can you work out what the matchstick man in the
middle of the last triangle should look like? Take the
number of elements in the matchstick man, add 4 and

go to the next puzzle.

See answer 32

o
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GARGANTUA

124

W) W) ) ) W) )
n) ) =) ) m) )
W W) ) ) ) )

PUZILE E!I

Above are six 6-digit numbers each beginning with the
numbers 124. Each of the numbers is divisible by 149
with no remainder. Which digits do you need to
complete the numbers? Add all the last digits together,
subtract 16 and go to the next puzzle.

See answer 34

PUZILE EE

Can you work out the sequence of this snake and find
the missing shape. If you choose Diamond, go to 12.
If you choose Heart, go to 16. If you choose Cross, go

to 9. If you choose Circle, go to 17. If you choose
Arrow, go to 3.

See answer 35



Answer 1

C, go to 7. G (the first letter of George) is the 7th letter
from the beginning of the alphabet, T (for Tennessee) is
7th from the end.

Answer 2

117096, 117232, 117368, 117504, 117640, 117776 117912.
Divide 117000 by 136. Round the number up to the
next full number, then multiply it by 136, then keep
adding 136 to this number.
6+2+8+4+0+6+2=2828-2=26.

Answer 3
D5. Work backward from the % (Finish) square.
5+15=20.

Answer 4

B, go to 35. The letters represent numbers based on
their position in the alphabet. Those in the left column
and multiplied by those in the right to give the letters
in the middle.

Answer 5
D, go to 15. The diagrams make “faces”, D is upside
down.

Answer 6
1. The corresponding sections of the three wheels add
up to 10. 1 + 24 = 25,

Answer 7
A, go to 10. The outer lines of one sector added to the
inner lines of the sector opposite always add up to 9.

Answer 8
$5.80. Vowels = 7, Consonants = 5. 5+ 8 + 17 = 30.

Answer 9
B1. Work back from the s (Finish) square. 1 + 12 = 13,

Answer 10

73. Starting at 1 add 5, then 4, then 3, then 2, then 1,
and repeat order. When you arrive at the highest
number move on to the lowest number in the next
wheel. 73 - 45 = 28.

Answer 11

9. Take the value of each letter, add their digits
together and put number in space to the right.
9-5=4.

Answer 12

Circle, go to 5. The basic sequence is Heart, Circle,
Diamond, Triangle, Moon. Take the first symbol and
put a line through it. The rest of the sequence then
repeats in reverse order. Repeat this with each symbol
in turn.

Answer 13
4.30. The numbers are divided by 2 on each clock.
4+6+12 =22

Answer 14
28. Add individual digits of each number on edge of
triangle and place their sum in the middle. 28 + 6 = 34

Answer 15

44. Multiply the diagonals of each square, then add
both values together and put this number in the
middle. 44 - 36 = 8.

Answer 16
30. Multiply the numbers at the bottom of each
triangle, reverse the digits in the answer and add

number on top of triangle. This number goes in the
middle. 30 - 21 = 9.

Answer 17

H, go to 27. Start at top left hand corner, multiply
number by value of following letter (based on its
position in the alphabet), find new letter equivalent
to that value and place in next space.

Answer 18

Z, go to 31. Subtract inner letter from outer, based on
their position in the alphabet. The result of each
calculation is 3.

Answer 19
$1.90. Vowel = 2, consonant = 3. Add all values
together and multiply by 10. 90 - 66 = 24.

©
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Answer 20

C, go to 32. The initial letter of each ship is four places
down the alphabetical order from the initial letter of
the boy’s name.

Answer 21
165.3+6=9,6+9=15,9+15=24,15+24=39,24 +
39=63,39+ 63 =102,102 + 63 =165. 165 - 163 = 2.

Answer 22
C, go to 29. The line should cut off a triangle at one
corner.

Answer 23

B, go to 19. In each pair, the girl’s initial and the
statesman’s is the same number of letters from either
the beginning or the end of the alphabet. Natasha, 13
letters from the end, studies Mao, 13 from

the beginning.

Answer 24

4. Multiply the numbers on each left side and each
right side of the square and divide the new value on
the left by the new value on the right. 4 + 2 = 6.

Answer 25

V, go to 17. The letters are the initials of the planets in
the solar system, followed by the days of the week.
The order is a horizontal boustrophedon, starting from
top left. Venus is missing, so V (22nd letter) - 5 = 17.

Answer 26
U, go to 18. Based on their position in the alphabet the
inner letter is four places behind the outer letter.

Answer 27
The code number to access Gargantua is 335.

Answer 28

115045, 115218, 115391, 115564, 115737, 115910. Divide
115000 by 173 and round the answer up to the nearest
whole number. Now multiply this number by 173 and
add 173 to it until you reach 115910.
5+8+1+4+7+0=25.25+8=233.

Answer 29

Y, go to 3. Based on the letters position in the

alphabet and starting at the top left hand corner, in the
first square add 2 to each value, in the second square

add 3, in the third square add 4 and in the fourth
square add 5.

Answer 30

17 + 6 =23. All the digits from 1-9 are represented as
both tens and units. 1 is never used as a ten and 7 is
never used as a unit.

Answer 31
D6. Work back from the % (Finish) square. 6 + 10 = 16.

Answer 32

He should have 10 elements. Add the elements of
matchstick men on each side of triangle and place new
figure in middle of following triangle. Put figure based
on corners of last triangle in middle of first triangle.

10 + 4 =14.

Answer 33

E, go to 21. The initial letter of the girls name is three
places ahead in the alphabet to the initial letter in the
groups name.

Answer 34

124117, 124266 124415, 124564, 124713, 124862. Divide
124000 by 149 and round the answer up to the nearest
whole number. Now multiply this number by 149 and
add 149 to it until you reach 124862.
7+6+5+4+3+2=27.27-16=11.

Answer 35

Diamond, go to 12. The sequence js Heart, Cross,
Circle, Arrow, Diamond. Repeat sequence omitting the
first symbol, then add first symbol with extra line
around. Repeat with each symbol.

ORDER IS

1 7 10 28 33 21

2 26 18 31 16 9 13 22
29 3 20 32 14 34 11 4 35
12 5 15 8 30 23 19 24 6
25 17 27
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PUZILE I I

See answer 117

& @
A, © Cr

PUZILE H

Can you find the odd shape out?

See answer 170

o



LEVEL 2

A B C D E

PUZZLE EI

To which of these diagrams could you add a single straight
line to match the conditions of the above figure?

See answer 145

puzzie[]

The four main mathematical signs have been left out
of this equation. Can you replace them?

See answer 184



A. Los Angeles B. Dallas

C. Houston

D. Kansas E. Chicago
Can you unravel the logic behind these domino pieces All the suitcases are shown with their destinations.
and fill in the missing letter? Which is the odd one out?
See answer 122 See answer 60

PUZILE I:I

Can you find the shape that should replace the
question mark ?

See answer 9

o



LEVEL 2

PUZILE I I:I

Pick up one letter from each bulb in numerical order. You
should find the names of five US states and two dummy
letters. What are they?

See answer 46

100
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A|C|DI|F PN
<D 2 &S

PUZILE I | I

Can you spot the cube that cannot be made
from the layout above?

See answer 167

PUZZLE I E PUZILE

Can you work out which number the missing hand on Can you unravel the logic behind this square and
clock 4 should point at? find the missing letter?
See answer 137 See answer 91

107



LEVEL 2

UIT|TIR|Z

WIWIZIZ|S

=
-
—
—
-
N
)
N
N
=
=
-
—
—
-
N

D
=
=
N
N
wn
N
o
T
T
=)
=
=
N
N
N

ZISIZIR[T|TIUWWIZIZIS|Z|R[T|T

ZIWWIUIT|TIRI|Z|S|Z[ZIWWJU|T|T

UIWIWI|Z|Z[S|Z]|R

TITIRIZ|S|Z|ZIWIW[U|T|T|R|Z|S|Z
TITIUWWI|Z|Z|S|Z[R|T|T|U[W[W|Z

RIZIS|Z|ZIWIWIUITI|T|RIZIS|Z|{ZW

ZIRIT|ITIUWIWIZIZ|ISIZ[R|T|T|UIW

S|ZIZIWIWIUIT|TIRIZ|S[Z|Z|W]W]U
ZIS|ZIRIT[TIUWIWIZ[Z|S|Z|R[T|T

ZIWWIUIT|TIRIZ|S|Z[ZIWWIU|T|T

WIZIZ|S[Z|R|T|T

WIZIZ|IS|ZIR|T|TIUWIW|Z|Z|S|Z]|R
WIUIT|T[RIZ|S[Z|ZIWWIU|T|T[R]|Z

puzzLe Y]

Can you spot the pattern

of this grid and complete

g section?

missin

the
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o b g

PUZILE I E!

Can you work out which diagram is the odd one out?

See answer 179

A. 4 hrs 20 min B. 3 hrs 15 min C. 6 hrs 14 min

O"0 O"0

O"0

? 80 60

D. 7 hrs 13 min E. 4 hrs 12 min

O"0

O"C

42  mmgm 78

Each tractor has been working for the time shown.
The figure under the tractor shows how many tons
of potatoes have been gathered. Clearly some
strange logic is at work! How many tons has
tractor A gathered?

See answer 90

102
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A isto

as C is to

L]
7 |O O
O

PUZILE

See answer 106

PUZILE

Can you work out the logic behind this square and
complete the missing section?

See answer 93



PUZILE

Which of these layouts could be used to make the

above cube?

See answer 149

is to B as is to

See answer 178

102
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A is to B as C is to

PUZILE m

See answer 86

100



PUZILE EI

Can you find the odd shape out?

See answer 185

No. 139 No. 101
Silverstone Monaco
No. 98
Le Mans
No. 154 No. ?
Monte Carlo Indianapolis
PUZILE E I PUZILE EI
Can you unravel the code on this book to find its These cars are all racing at famous circuits. Can you
famous author? work out the number of the car at Indianapolis?
See answer 131 See answer 85

107
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G Ko

A isto B as C is to

He
e

E G H
PuzzZLEFT]

See answer 154

[ 27|

Can you work out which of the above dishes is
the odd one out?

See answer 35

102



PUZILE E"

Which of the following layouts could be used to make
the above cube?

See answer 181

= =

AEC 759 BFD 8610

GKI 1311
JNL 1614
PUZILE EI PUZILE Ei :l
Can you work out the logic behind this square and fill The registration plates of all these cars conform to a
in the missing section? certain logic. Can you work out the final plate?
See answer 92 See answer 84

10
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See answer 123

O

O

B ﬂ%a‘,@ ¢
. O
B

[sS

(PuzLEEY]

Can you work out which is the odd diagram out?

PUZILE EEI

Can you work out the reasoning behind this code and
discover the author of this book?

See answer 153
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salnnlon
g nlnalsn

PUZILE EE

Can you work out which of these symbols comes next in
this sequence?

See answer 104

AN
2sasess

\I/

Al \\
\ , / Il Giorno @

Politiken El Pais The Independent

PUZILE Eﬂ

Each balloon has been sponsored by a famous newspaper.
The number is somehow linked to the paper’s name. What
is the number of The Independent’s balloon?

AAN
poasrasas
\! / La Stampa

See answer 78

S



[PUZZLE
PuzneEy] [ 58

Can you work out the logic behind this square and
find the missing number? Can you work out which symbol is the odd one out?

See answer 80 See answer 185

A B

c .

PUZILE

Can you replace the question mark with a number?

See answer 111
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®B00®

PUZZLE I i I

This grid is made up according to a certa

Can you work it out a

in pattern.

nd fill in the missing section?

42

See answer
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A is to B as C is to

[PUZZLE

See answer 180

PAY.
YA

[PUZZLE

Can you work out what the next matchstick man in this
series should look like?

See answer 53



LEVEL 2

[puzzLEETY

Can you work out how many rectangles can be found

in this diagram altogether?

See answer 56

W V T Z H

A

PUZILE lﬂ

Can you unravel the code on the back of the picture to

find the name of its artist.

See answer 102

o

15 15 15
[11713 45

Can you work out how much each shape is worth?

See answer 45

No. 76 No. 92
Schmidt Perkins
No. 91
Delacroix
No. 80 No. ?
Moreno Pascal

[ a7

Each car’s number is related to its driver’s name. Can
you predict which car Pascal will drive?

See answer 79



[PuzzLe T

Can you work out which of these cubes cannot be made
from the above layout?

See answer 165

[PuzzLe D)

Can you replace the question
mark with a letter?

See answer 183




LEVEL 2

D
¢ 1351 E

Can you work out which shape is the odd one out?

See answer 169

PUZILE Eﬂ

Can you work out which of these dishes is the odd one out?

See answer 21

e



OBE0 OO0== O0E

O

D OO == F

Q7R

PUZILE EEI

Can you work out, using the amounts of time specified,
whether you have to go forward or backward to get from
the top clock to the bottom clock?

See answer 187

O=0=000  g0=0  FOO
O 7 B0 ]
elele

A isto B as Cisto

Ut

e
O e

O

Ql==@ H
O OO

E G

[ty 54|

See answer 186

@
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PUZZLE m

Can you work out which pattern this grid follows and

complete the missing section?

swer 164




:

UZILE

Pick one letter from each cloud in order. You should be
able to make the names of five composers.

See answer 41

%

%
S
O
%

PUZILE Eﬂ

Can you find the column that comes next in the sequence?

See answer 175

2




LEVEL 2

A
AP

PUZILE EH

Can you work out what the next fish in this sequence
should look like?

See answer 52

A. 33 kg B. 35 kg

C. 60 kg
D. 42 kg E. 15 kg
puzzLe[T] PUZZLE[T]
Can you work out which number should replace the The weight of each suitcase is shown. Which is the
question mark? odd one out?

See answer 144 See answer 67



C

PUZZLE H I

Can you work out which of these squares would complete
the above diagram?

See answer 160

PUZZLEIE @m

In this diagram the four basic mathematical

How many squares can you find in this diagram signs (+, —, X, <) have been missed out.
altogether? } Can you replace the question marks?
See answer 97 See answer 136



LEVEL 2

[PUZZLE

Can you work out which of these shapes would fit together
with the shape above?

See answer 116

12 19 17

PUZZLE

Can you work out the reasoning behind these squares and
replace the question mark with a number?

See answer 120



A
YUY

Can you spot the cube that cannot be made from the
above layout?

*|Z|A|X

See answer 163

1 2

9 HMJ 1512
3 4“!III'h
GLI 1411
PUZILE Iﬂ PUZILE lz:’
Can you find the number that should replace the There is a logic to the registration plates of these cars.
question mark? What is the plate on the last car?
See answer 121 See answer 77

125
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PUZILE

See answer 88




Can you work out the reasoning behind this square
and replace the question mark with the correct shape?

See answer 36

\‘/1

T 1 g T S
.__.OZA___ ——UA._.— ———AB___
VA AN /\A SN VAALT AN

4 2 5

PUZILE m

Take one letter from each bulb in order. You should be able
to make five five-letter words related to food.

See answer 40
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° PUZLLERR) E

Can you work out which diagram would continue the
series?

See answer 161

A. 25 mph

299 m

PUZILE E I

The diagram gives the speed, number and distance covered
for each balloon. Can you work out the distance for A?

See answer 69

®



X
< <X
x
X
NI
X
X
B
X
X
X
X XX
LXK X

PUZILE EI

Can you work out which of these symbols
follows the sequence?

See answer 105

36 ? 10 12
PUzZLET] (PuzzieEl

Can you unravel this code and find the Can you work out which number should replace the
painter of this picture? question mark in this diagram?
See answer 96 See answer 26
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PUZILE B'I

Can you work out the reaso

ning behind this grid and

complete the miss

ing section?

135

See answer

NI <O [LOIAN AN [ [ M < L0 [LO [N
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PUZILE E I

Which of these cubes can be made from the
above layout?

See answer 128

- TANGO ||ANDANTE
F G

PUZILE I:”

Can you work out which of these musical terms
is the odd one out?



LEVEL 2

'y 'y 'y

‘44 'y 'y

(PuzzLef]

Take one letter from each cloud in order.
You should be able to find five words from around
the world that are in common use.

See answer 50

PUZILE I:E

Can you work out the reasoning behind this wheel
and replace the question mark with a number?

See answer 151

e



is to B as C isto

D E F G H
PUZZLE I:ZI

See answer 156

PUZILE I'EI

Can you work out which letter should replace
the question mark?

See answer 119



LEVEL 2

PUZILE rﬂ

Can you work out what the next grid in this
sequence should look like?

See answer 54

2\ (N~
\NY I\Y,

PUZILE I:ﬂ

Can you work out what the missing section
in the last wheel should look like?

See answer 57

12



C isto

D E PUZILE 88 F G

See answer 94

No. 4 15kg No. 7 18kg
No. 3 14kg
No. 8 19kg No. ? 24kg
PUZILE !'EI | PIIZZI.EEI:I
Can you find the letter which completes Each horse carries a weight handicap.
this diagram? Can you work out the number of the final horse?
See answer 75 See answer 15
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(N[N ANIN[H [N [T D [T MM
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PUZZLE E“

Can you work out the reaso

ning behind this grid

ing section?

and complete the miss

51




[T 92|

Pick a letter from each bulb in turn and make
the names of five novelists.

See answer 30

=

NEW YORK LAS VEGAS
1116 1359
LOS ANGELES
1728
CHICAGO SAN FRANCISCO
1233

PUZILE EE’

All these cars started from the same place and drove to

the cities indicated. The mileages shown on the trip

meter seem to make no sense, but the logic comes from

the names of the destinations. Can you work out what
it is, and the mileage of the last car?

See answer 68




LEVEL 2

|PUZZLE

Can you find the letter that should replace
the question mark?

See answer 109

|PUZZLE

Can you work out the reasoning behind this code
and find the artist of this painting?

See answer 87



9@

PO®

Can you work out which of these cubes cannot be
made from the this layout?

See answer 118

13 @) o

> >

HOYS

PUZILE EEI

Can you find the shape that would continue the series above?

See answer 150

129
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PIIZZI.EI”:I

Take one letter from each cloud in order.
You should be able to make the names of five scientists.

See answer 58

A B
START 3.15 START 3.20

CIONNCIO

FINISH 2.06 c FINISH 1.09

START 5.24
D FINISH 2.11 E
START 7.35 START 6.28
FINISH ? FINISH 4.22
[0 102

‘ All these bikes took part in an overnight race.
PUZZLE m Something really weird happened! The start and finish
times of the bike became mathematically linked. If you

Can you work out which letter should replace the can discover the link you should be able to decide
question mark in this square? when bike D finished.
See answer 62 See answer 16

o



PUZILE II:EI

Can you work out the reasoning behind these squares
and find the missing number?

See answer 32

20
5

£

A 07 104 |

To which of these diagrams could you add a circle to
match the conditions of the above figure?

See answer 148

o
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o Lot et o Lo

[T 105 |

Which of these shapes fits the above to
complete the polygon?

See answer 1/74

A B
BADEN-BADEN EPSOM

C
LONGCHAMP
Q ! ! D 1 ! ! E
SARATOGA NEWMARKET
PUZILE I I:l! PUZILE I l:ﬂ
All these horses are about to race at famous courses Can you replace the question mark with a number?

around the world. Which is the odd one out?
See answer 143
See answer 11

o
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PUZILE I I:E:l

Can you work out which of these squares is
the odd one out?

See answer 103

PUZZLEII:EI

Can you find the odd shape out?

See answer 108

142
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PUZILE I I I I PUZZLE I I E

Can you work out which number should replace the Can you find the number that comes next
question mark? in this series?
See answer 152 See answer 65
FROGGIT BLEASDALE LUDLOW

i

O

O"C O"0

95 111 56

WINTERBOTTOM GRIMBLE

é)% O"0

146 ?
[{07d 113

Each farmer gets a different tonnage per acre.
Somehow the tons is related to the letters in his name.
How many tons does Grimble get? You need to find
two possible values for each letter.

See answer 61
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ALX+O] e

PIIZZlEl“l

Which cube can be made from this layout?

See answer 114

8 12
22 16 33 24
14 10 21 1¢
20 18 30 27
12 18
16
2 32
28 20
PUZILE I I E]
40 36

Here is another diagam in which we
have supplied the letters you do NOT 24

need to complete the puzzle! When you
have decided which letters are missing P“ZZI.E I I IEI

rearrange them and you will find a city

named after a US President. Beware! One Can you find work out which number
letter is used twice. should replace the question mark?
See answer 166 See answer 33



PUZILE I I ﬂ

Can you work out the reasoning behind these
squares and find the number that should
replace the question mark?

See answer 110

PUZZLE I I !II

Can you find the odd shape out?

See answer 147

147
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Ais to Cis to

%ﬁf“ﬁ

PUZILE I I EI

See answer 146

7113 120 |

Pick one letter from each bulb in order. You can make the
names of five artists.

See answer 28

o
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C D E

[T 121 |

Can you find the odd diagram out?

See answer 124

JUPITER

SATURN URANUS

D E
[T 122 | [{714 123

The first interplanetary travellers are about to

Can you work out the reasoning behind this square set off. Whose luggage is going to be put off
and replace the question mark with a number? at the wrong stop?
See answer 23 See answer 49

149
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PUZILE I E I

The phrase ARC DE TRIOMPHE is conce

aled

entirety only
aight lines with only one
ion. Can you find it?

in this grid. It occurs in its

somewhere

once. It is written in str

change of direct

43

See answer
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PUZILE I E

Can you work out what the next wheel in this
sequence should look like?

See answer 85

Q<00 Ok
>dk @<

gomﬁ®< O@$<
od<{OMO
mp>>9r0O

[PUZZLE

Which of these columns would continue the sequence above?

See answer 130

s



[ 127 |

Which of the names in the right column can be added

to the left one? This may seem confusing initially but,

despite appearances, it is not an American puzzle and
you will find a capital solution.

See answer 139

SOLAR SPRINTER SILVER STREAK

SUPER SAVAGE STEEL SABER

77013 128 | LT 129

All these horses are ready for the off.
Can you work out which symbol is the odd one out? Which is the odd one out?

See answer 125 See answer 48
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PUZILE l E!'l

Can you find the odd diagram out?

See answer 142

4

PUZILE l E’ l

Can you work out which shape should replace the
question mark?

See answer 22
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LEVEL 2

PUZILE I Ea

Can you work out the logic behind these triangles and
replace the question mark with a number?

See answer 100

PUZILE I Ez I

Can you work out which number should replace the
question mark?

See answer 13




PUZILE I Eﬂ

Can you work out which of these diagrams would
continue the series?

See answer 141

PUZZLE I Ez !

Which of these shapes should replace the
question mark?

See answer 29
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PUZILE l Eﬂ

Can you unravel the code on this book to find its
famous author?

See answer 1

No. 220
Denver

PUZILE I Ez'l

Can you unravel the logic behind this square and
find the missing letter?

See answer 81

No. 47
Kansas City

No. 25 No. 363 No. 428
Galveston Lafayette a) Portland
b) Chicago

c¢) Nashville
PIIZZLEIEE' d) Buffalo

The number of each train and its destination are in
some way related. Can you work out where train
No. 428 is bound for?

See answer 47

e
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&
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N
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=

Cc

PIIZZI.EIII:I

See answer 113

PUZILE I I i I

=

=

J (@D

Can you work out which of these symbols follows
the sequence above?

Take one letter from each of these bulbs in order.
You will be able to make the names of five poets.

See answer 19

©
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i

1908 1932 ?

1820 1812 1924 | 1916 1948 1940 1972 1964

[0 142

Can you work out the reasoning behind these triangles and
replace the question mark with a number?

See answer 34

No. 10 No. 2

Arrives 2.15 Arrives 3.02
No. 30

Arrives 2.45

346891215162 No. 8 No. 2

Arrives 3.08 Arrives 2.30

[0 143 puzneETTY

Five cyclists are taking part in a race. The number
Can you find the number that comes next in of each rider and its arrival time are in some way
this series? related. Can you work out the number of the rider

who arrives at 2.30?

See answer 66 See answer 3



PUZILE I I EI

Can you work out, using the amounts of time specified,
whether you have to go forward or backward to get from
the time on the top clock to the bottom clock?

See answer 162

PUZILE I I l! PUZZLE I I ﬂ

Can you work out which letter should replace the The following clock faces are in some way related. Can
question mark in this square? you work out what the time on clock No. 3 should be?
See answer 31 See answer §
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The phrase STATUE OF LIBERTY is conce

aled in
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E

[T 149 | 07113 150 |

Can you work out which diagram is the odd one out?

Can you work out which number should replace the
question mark in this square?
See answer 140

See answer 138

A. No. 6 (873) B. No. 10 (?) C. No. 4 (1093)

O

O

6356

O

4372

5238

D. No. 14 (454) E. No. 3 (1262)

O O
3786 9870
[ 151

Each tractor gathers potatoes over a certain acreage (shown
in brackets). The weight of potatoes in kilos is shown under
each tractor. There is a relationship between the number of
the tractor, the acreage and the weight gathered. What
weight should tractor B show?

See answer 39

e
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See answer 6
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PUZILE I E'

Can you work out which of these cubes is not the same
as the others?

See answer 2

PUZILE I Ez I

Can you unravel the logic behind these squares and find
the missing number?

See answer 71
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AN

PUZILE I E

Can you work out what the next flower in this series should
look like?

See answer 95

No. 9 No. 10

CIOICTO

Takes 1 hr 35 Takes 1 hr 43
No. 11

B0

Takes 1 hr 52
No. 14 No. ?

CONCIO

Takes 2 hr 27 Takes 2 hr 33

PUZILE I Ei ! | PUZZLE I m

Can you find the missing number in this square? Five cyclists are taking part in a race. The number of
each rider and his cycling time are related to each
See answer 10 other. Can you work out the number of the last cyclist?

o

See answer 38
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PUZILE I EI'I

Can you work out which of these symbols would continue
the series?

See answer 134

XIV XV I XX1I

PUZILE I El

Which of these squares does not follow the same rule as the
others?

See answer 74
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The word SERPENTINE is hidden somewhere

in this

e, Can you find

irety

grid. It occurs in its ent

only onc

line.

is all in one

but

ny direction

it? It may be spelt in a

59

See answer
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Pick one letter from each cloud in order. You should be able
to make the names of five Roman emperors.

See answer 63

Qua)_(_ 13 Quay 28

"%——

Cardiff Porthcawl

Bharuch a) Bhaktal
b) Kasaragood
c) Cochin
d) Lishon
PUZZLE PIIZZLEIIEI
Can you work out how many triangles there are in this The number of the quay and the ship’s destination are
diagram altogether? in some way related. Can you work out which harbour

the ship on Quay 26 is bound for?

See answer 99
See answer 4

67
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A is to B as C is to

F

PUZZLE l Iz I

See answer 112

PUZILE I I ﬂ ‘
| PUZILE I IE !
Can you find the number to replace the question

mark? Can you find the odd figure out?

See answer 27 See answer 132
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8 5 8 5
7 6

7 6 7 167 |

Can you find the shape that should replace the question
mark in the last circle?

el

See answer 8

e,

Albuquerque Minneapolis
Denver Portland
c Grand Island D San Diego E

Pueblo Buffalo Clearwater
Sacramento Evansville —_—
Victoria Hannibal Iindianapolis

a) Baltimore
b) Fresno

m ) Boston
PUZZLE :) Philadelphia

These trains pass three American towns on their route. Can
you find the missing town of the last train?
See answer 37
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+ |4+ [ X | X[ X ]|+ [X

— =X =+ X[+ =
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PUZILE I IE.

This grid follows a ce

rtain pattern. Can you work out

which signs complete the missing grid?

70

swer

See an

X[+ = X[ X[ X[ +]+

— | X |—=[X|X[X]+|+
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Can you work out which two pyramids cannot be made
from the above layout?

9

See answer 168

[0 171

Can you work out the reasoning behind these squares and
replace the question mark with a number?

See answer 72

®
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Take one letter from each cloud in order. You should be
able to make the names of five playwrights.

See answer 25

7 5] T

> L7 174 f

Can you find the odd shape out?

See answer 133
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S —

Q0 175

Can you work out which of these diagrams is the odd
one out?

See answer 107

B C D

17 176

Can you find the symbol that would continue
the sequence above?

See answer 126

®
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PUZILE I m
Can you work out what the next symbol in this sequence
should look like?
See answer 44
Quay 28 Quay 37
Felixstowe Durban
Cape Town
Quay 27 Quay 89

Eureka a) Long Beach
b) East London
c) Alexander Bay

d) Lagos
PUZILE l R:I PUZILE I EI
Can you find the letter which completes this Can you work out where the boat leaving from
diagram? Quay 89 is bound for?
See answer 14 See answer 24

@
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PUZILE

This grid is made up according to a pattern. Can you

work it out and complete the missing section?

See answer 12
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11 13 17 25 32 37 47

Puzzie ETN [T 182

Can you work out which number comes next in

this series? Can you work out where the shaded square in
the last diagram should be?
See answer 82 See answer 129

Boston Globe

AAN
passszssy
\\ I/

Daily Mail France Soir Ethnos

PUZZLE I I'El

Each balloon has been sponsored by a famous newspaper
and given a registration number based on the paper’s name.
What number should the Ethnos balloon bear?

See answer 17

@
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PUZILE

Can you work out which triangle does not follow the same
rule as the others?

See answer 73

A is to B as is to

[PUZZLE

See answer 89
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Can you find the odd diagram out?

See answer 127

PUZILE l I:ﬂ

How many circles can you find in this diagram altogether?

See answer 76

®
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Answer 1
C. Dickens. The code is based on the number alphabet
reversed, i.e. Z =1, A = 26, etc.

Answer 2
C.

Answer 3
20. Multiply hours by minutes and divide by 3 to get
the number of the rider.

Answer 4

D. Multiply digits. The resulting product gives the
alphabetical position of the first letter of the place
name.

Answer 5
9.05. The minute hand goes forward 25 minutes, the
hour hand back by 5 hours.

Answer 6
E. Fold the top half onto the bottom half and turn the
shape 45° anti-clockwise.

Answer 7
Carmen, Fidelio, L.a Traviata, Lohengrin, Boris
Godunov. The additional opera is Don Giovanni.

Answer 8
- The symbols are determined by the number of
sides, as follows: circle 1, L-shape 2, triangle 3,
square 4, pentagon 5, hexagon 6. Starting at 1 and
moving in a clockwise direction skip 1 shape, then 2,
repeat. When you have reached the 8th segment continue
with the 1st segment in the 2nd circle, and continue in
the same order in this and the subsequent circle.

Answer 9
The shapes form two series which go from top
O to bottom of succeeding squares. The squares
and circles alternate. The sequence of shading
is: quarter, half, three-quarters, fully shaded.

Answer 10

384. Starting at the top right hand corner work
through the square in a vertical boustrophedon,
multiplying by 4 and dividing by 2 alternately.

Answer 11
D. They are all in alphabetical order except for D.

Answer 12

It starts at the top left and
works inward in an
anti-clockwise spiral.

Answer 13
18. Multiply the numbers in the outer section, reverse
the product and put in the middle of the next section.

Answer 14

T. Based on the number alphabet backwards, add
together two consecutive squares in the same row.
Convert the sum to a new letter and put in the row
above in the square that is directly above the two
consecutive squares.

Answer 15
No. 2. Take the first digit of the weight from the
second to arrive at new number.

Answer 16
3.13. Start time A minus Finish A = Finish B. Start
time B minus Finish B = Finish C, etc.

Answer 17
142334. It works on a number code. 1 is letters A-E
inclusive, 2 F-J, 3 K-O, 4 P-T, 5 U-Y and 6 Z.

Answer 18
Denver, Buffalo, Saginaw, Boston, Seattle, Miami. The
extra city is Philadelphia.

Answer 19
Blake, Byron, Dante, Donne, Plath.

Answer 20
G. It is a term for tempo, while the others are types of
dances.

Answer 21
Ratatouille. ]t is the only vegetarian dish.



Answer 22
The sequence is:

CHCNGCH

The symbol moves from section 1 in the first circle to
section 1 in the second circle, then to section 1 in the
third circle, and then to section 2 in the first circle etc.

Answer 23

48. In each box of four numbers, multiply the top two
numbers, put the product in the bottom right box, then
subtract the top right number from the bottom right
one and put the difference in the bottom left box.

Answer 24

C. Take the first digit from the second. The resulting
digit gives the alphabetic number of the initial letter of
the answer.

Answer 25
Brecht, Coward, Dryden, Pinter, Racine.

Answer 26
21 A=12,%=9,9=3,%=5@=7.

Answer 27

76. Starting at the bottom left hand corner, work
through the square in a clockwise spiral, multiplying
by 2 and subtracting 6, alternately.

Answer 28
Bacon, Bosch, Klimt, Manet, Monet.

Answer 29
A.

Answer 30
Camus, Defoe, Dumas, Verne, Wells.

Answer 31

G. Starting at the bottom left corner, work through the
alphabet in an anti-clockwise spiral. Miss 1 letter, then
2 letters, 1 letter, etc., going back to the start of the
alphabet after reaching Z.

Answer 32

92. Multiply the numbers on the diagonally opposite
corners of each square and add the products. Put the
sum in the third square along.

Answer 33

44. The numbers increase clockwise first missing one
spoke, then two at the fourth step. Each circle increases
by a different amount (2, 3, 4).

Answer 34

1956. The numbers represent the leap years clockwise
around the triangles starting at the apex. Miss one leap
year each time.

Answer 35
Tiramisu. This is a dessert; the others are all
main courses.

Answer 36

Add the number of segments in column 1
to the number of segments in column 3.
Draw this number of segments in to
column 2.

Answer 37
Fresno. Skip two letters in the alphabet each time.

Answer 38
15. Take the minutes in the hours, add the minutes
and divide by 10. Ignore the remainder.

Answer 39
987. The tractor number is divided into the weight to
give the acreage. The weights have been mixed up.

Answer 40
Kebab, Pasta, Pizza, Tacos, Wurst.

Answer 41
Bartok, Boulez, Chopin, Delius, Mahler.

Answer 42

The faces pattern sequence is
smiley, smiley, straight, sad, sad,

®©

smiley, straight, straight, sad,
etc. Start at the bottom left and

©|®

work in a horizontal boustro-

B)(B][8

O

phedon.
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135° anti-clockwise, 90° clockwise,

45° anti-clockwise.
Answer 49
€. The others are all in the correct order if you start
from Earth and travel away from the sun.

Answer 45 Answer 50

V=8 x=4,3C=6,0=2. Bodega, Bonsai, Ersatz, Hombre, Kitsch.

Answer 46 Answer 51

Idaho, lowa, Maine, Texas, Utah. The dummy letters 3 3 2 The pattern sequenceis 1, 2, 2,

are K and L. 3,4,4,1,2,3,3, 4. Start at the
2 3 4 top left and work in a horizontal

boustrophedon.
Answer 47 3 2 1

€. Add the digits to get the alphabetic number of the

town’s initial letter.
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Answer 52

The pattern is +2 scales, +3 scales, -1
scale. A fish with an even number of
scales faces the other way.

Answer 53

The pattern is +1 limb, +2, +3, -2, -1,
+1, +2, +3, etc. A figure with an
uneven number of limbs is turned
upside down.

Answer 54

Starting at opposite ends
the symbols move
alternately 1 and 2 steps to
the other end of the grid in
a boustrophedon.

Answer 55

Starting with a vertical line
reflect the dot first against
that line and then each
following line in a
clockwise direction.

< BT

Answer 56
21,

Answer 57

The corresponding sections
in each wheel should
contain a black section in
each compartment.

4

Answer 58
Brunel, Darwin, Edison, Pascal, Planck.

Answer 59 - See page 184

Answer 60
D. All the others are cities, Kansas is a state (Kansas
City actually straddles the Missouri-Kansas border).

Answer 61

61. Letters are worth the value based on alphabetical
position (A=1, etc.). However, alternate letters are worth
the value based on the reversed alphabet (A=26, etc.).

Answer 62
€. Starting at the top right hand corner, work through
the alphabet, missing 1, 2, 3,4, 5,4, 3,2, 1, 2, etc. letters

each time, in a vertical boustrophedon.

Answer 63
Gallus, Jovian, Julian, Trajan, Valens.

Answer 64
M. These are all the letters with straight sides only.

Answer 65
64. Take each digit individually. The patternis 1, 2, 3, 1,
then 2, 3, 4, 2, then 3, 4, 5, 3, and finally 4, 5, 6, 4.

Answer 66
18. These are all the numbers that can be divided by
either 3 or 4.

Answer 67
B. The digits of all the others add up to 6.

Answer 68
1980. Vowels = 243, Consonants = 126

Answer 69
576. Multiply No. by speed, put the product as the
distance for the next balloon.

Answer 70
The pattern is:

X|[+|[+
X

X| ++-=-=-++xxx

Start at the top Jeft and work
clockwise in an inward spiral.

Answer 71

6. In each square, multiply the top and bottom left
together, then multiply the top and bottom right.
Subtract this second product from the first and put this
number in the middle.

163



LEVEL 2 — ANSWERS

Answer 59
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Answer 72

75. In each square, multiply the top and bottom left
numbers, then the top and bottom right. Add these
two products, reverse the digits of this sum and place
it in the middle.

Answer 73

€. Divide the left number by 2, place this number at
the apex, then square it and put this number at the
right. Finally, add all three numbers together and put
the sum as a ro
C, the right number should be 4 and the middle
number should be X,

man numeral in the middle. In triangle

Answer 74

B. In each square multiply the two top numbers, then
the two bottom ones. Subtract the latter product from
the former, translate the difference into Roman
numerals and put it in the middle. Square B should be
XX (20).

Answer 75

R. Starting on the top left hand corner, work through
the alphabet, missing a letter each time, in a vertical
boustrophedon.

Answer 76
17.
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Answer 77

JOL 1714. Go 5 forward and 3 back in the alphabet.
The numbers continue from the alphabetic position of
the letter.

Answer 78

35226252257. The numbers are in code from the
newspaper titles. A-C =1, D-F =2, G-1=3,]-L =4,
M-O=5P-R=65U=7V-X=8,Y-Z=9.

Answer 79
No. 52. Add together the value of the letters based on
their alphabet position.

Answer 80

29. Add together the corner squares of each row or
column in a clockwise direction. Put the sum in the
middle of the next row or column.

Answer 81

F. This is based on the number alphabet backwards.
Add together the corner squares of each row or
column and put the sum in the middle square of the
opposite row or column.

Answer 82
58. Add the digits of the last number and move on by
that number.

Answer 83
D. Reflect the shape along a horizontal line, then move
each sign one segment clockwise.

Answer 84

QUS 2321. Go forward by 4 and back by 2 in the
alphabet, then continue with numbers taken from the
letters” alphabetical position.

Answer 85
No 201. Add together the values of the letters based
on their reversed alphabetical position, (A =26, Z = 1).

Answer 86
E. The shape has been folded along a horizontal line.
A shaded piece covers an unshaded one.

185

Answer 87
Picasso. Based on the letters’ position in the alphabet,
3 has been added to each value.

Answer 88
G. Add 3 to odd numbers, subtract 2 from even numbers.

Answer 89
E. The outer shape changes to the inner shape, the
openings rotate through 90° clockwise.

Answer 90

84. Multiply the hours of A by the minutes of B to get
the tonnage of C, then B hours by C minutes to get D,
C hours by D minutes to get E, D hours by E minutes
to get A, and E hours by A minutes to get the tonnage
of B.

Answer 91
I. It is based on the number alphabet backwards. Add
the top and bottom rows together and put the sum in
the middle.

Answer 92

It should have two dots. Add together the corner
squares of each row or column and put the sum in the
middle square of the opposite row or column.

Answer 93

E. Based on the position of the letters in the alphabet,
multiply column one by column three and place the
product in the middle column.

Answer 94

D. Add consecutive clockwise corners of the diamond
and place the sum on the corresponding second corner.
Add the four numbers together and place the sum in
the middle.

Answer 95
Add one leaf. Add two petals. Deduct
1 petal and add 1 leaf. Repeat.
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Renoir. The letters in this code come one before in the

% > The pattern sequence is @, @,
alphabet, with the artist’s name reversed.

%,*, %, &, &, *, %. It starts at

@
@ % > the top right and works
@

inwards in an anti-clockwise

Answer 97 Y spiral.

An @\%
Answer 102

Answer 98 - See above Degas. Each letter is the same number of letters from
the end of the alphabet as the letter in the artist’s name
is from the beginning.

Answer 99

36G.
Answer 103
J. All of the others have a matching partner.

Answer 100

10. Add 2 to each value, place sum in corresponding
position in next triangle, then subtract 3, add 2 again.

©
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Answer 104

D. Alternate between rotating the pattern 90°
anti-clockwise, and swapping direction of each
individual arrow.

Answer 105

A. Each ring contains one cross more than the previous
example, and the first and last cross in each adjacent
circle are level.

Answer 106

G. The top and bottom elements swap position, the
smaller central element becomes smaller still and all
three elements move inside the larger central shape.

Answer 107

E. Each shape is divided into smaller ones by
alternating between adding horizontal and vertical
lines (or vice versa) except in ‘E’ where 2 vertical lines
are added in succession.

Answer 108
E. All elements consist of 3 straight lines except ‘E’
which consists of 4 straight lines.

Answer 109

C. Convert each letter to its value based on its position
in the alphabet. The values on each corner of a triangle
added together result in the new letter in the middle.

Answer 110
9. The numbers rotate clockwise and increase by 1
each time.

Answer 111

12. Add together the values in the same segments in
wheels 1 and 3 and put the answer in the opposite
segment in wheel 2.

Answer 112

G. The figures are vertical images of each other but
with shaded and unshaded elements becoming
unshaded and shaded respectively.

Answer 113
B. Each arch moves closer to its opposite end by an
equal amount each time.

Answer 114
B.

Answer 115
The pattern sequence is:

U WIW
7 wlwl zZrRTTUWWZZS
T[T|U

T

Start at the bottom right and work
up in a horizontal boustrophedon.

Answer 116
B.

Answer 117
F. A curve turns into a straight line and a straight line
into a curve.

Answer 118
A

Answer 119

V. The letters are based on the number alphabet
backwards (Z = 1, A = 26, etc). The values on the
bottom corners and the value in the middle added
together result in the value on the apex.

Answer 120
3. The numbers rotate anti-clockwise from one
square to the next and decrease by 2 each time.

Answer 121

9. Multiply the values in the same segments in wheels
2 and 3 and put the answer in the next segment in
wheel 1, going clockwise.

Answer 122

N. Going from the top to the bottom of one domino
piece, then to the top of the next piece, etc., alternately
move on five letters and three back.

Answer 123
T. Hardy. Each letter in this code follows that of the
author, e.g. ‘U’ comes after “T” in the alphabet.
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Answer 124

€. The number of small circles equals the number of
edges of the shape, except for ‘C’ where there is one
more circle than edges.

Answer 125
E. All the others consist of 3 consecutive letters in the
alphabet.

Answer 126
B. Deduct one dot and one line, add two dots and two
lines, repeat.

Answer 127
E. All the others contain two stars for every half moon.

Answer 128
C.

Answer 129

The shaded square moves
around the square in a
horizontal boustrophedon,
starting at the top left hand
corner. It advances by 2 squares,
then 3, then 4, etc.

B

Answer 130
D. Each column of elements alternates and moves up
two rows.

Answer 131
J. Austen. Each number is double the letters’
alphabetica] position.

Answer 132
E. All the other elements consist of 3 consecutive
numbers.

Answer 133
D. The circle in all other elements intercepts an edge in
both the small and large shape outline.

Answer 134

A. Each small bar moves one place anti-clockwise in
alternate shapes, so that they are either 90° or 180°
apart.

Answer 135

The pattern sequenceis 7, 1, 1,
3,2,2,5,5,4, 1. It starts at the
top right and works in an
anti-clockwise spiral.

A
1
4

Answer 136

+ 4 = X = +. The letters are based on their alphabetic
position, so the sum would read:

L(12) + D(4) + B(2) = F(6) X K(11) = Q(17) + C(3) = H(8).

0N
Hmlr\)

Answer 137
8. The sum of hands on each clock is 13.

Answer 138
13

Answer 139
Independence. The initials can be rearranged to form
the name Madrid.

Answer 140
B. It is the only figure that does not have three boxes in
one row.

Answer 141

B. Working in an anti-clockwise spiral pattern, in the
first square there are eight lines, one missing, seven
lines, one missing, etc. The number of lines before the
first break decreases by one with each square.

Answer 142
E. It is the only one where the small and large circles
do not overlap.

Answer 143
3.

Answer 144
4.

Answer 145

B. It is the only figure which, with an additional line,
has a triangle adjoining the rectangle which overlaps
the square.
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Answer 146
F. The small and large elements become large and
small respectively.

Answer 147
A. It is the only one to have an odd number of lines.

Answer 148

D. It is the only one to which a circle can be added
where the triangle overlaps the circle and a right
angled line runs parallel to the whole of one side of
the triangle.

Answer 149
B.

Answer 150
B. Each time the square becomes the circle, the triangle
the square and the circle the triangle.

Answer 151

21. Multiply each number by the number on the
opposite side of the wheel on the same side of the
spoke and put the product in that segment next to
the centre.

Answer 152
2.

Answer 153
C. It is the only one to have an odd number of
one element.

Answer 154

D. A circle becomes a square, a line a circle and a
square a line, all in the same size and position as
original.

Answer 155
D. All the others are symmetrical.

Answer 156

F. The circles and squares become squares and circles
respectively. The largest element loses all internal
elements.

Answer 157
No. She hates capital cities.

Answer 158
No. [llinois had an S in it.

Answer 159
Yes. Swansea had no O in it.

Answer 160
D. The number of edges of the shapes in each square
increases by 1 in each column, starting from the top.

Answer 161

E. Add two circles and two lines, take away one of
each, repeat. The pattern is also rotated by 90° anti-
clockwise each time.

Answer 162
Forward, back, forward, back.

Answer 163
D.

Answer 164
The pattern sequence is:
1.00, 2.00, 2.00, 1.00, 3.00,

3.00, 2.00, 4.00, 4.00. 3.00,
5.00, 5.00, 4.00, 6.00, 6.00.

Starting at the bottom left
work upwards in a vertical

=]l

boustrophedon.

Answer 165
E.

Answer 166
Washington.

Answer 167
C.

Answer 168
D and E.

o
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Answer 169
B. It consists of 14 straight lines, the rest of 13.

Answer 170
C. It is the only one which does not have half as many
‘step’ lines as there are triangles.

Answer 171
Pantagruel.

Answer 172
Frankenstein.

Answer 173
E. A square becomes a circle, a circle a triangle and a
triangle a square of similar proportions and positions.

Answer 174
B.

Answer 175

A. Each shape increases by one of the same until there
are three and it then becomes one. The image is
reflected after a shape with two elements.

Answer 176
Excalibur.

Answer 177
Nostradamus.

Answer 178

H. Longer rectangles and arrows swap shading.
Smaller rectangles and arrows interchange shape and
shading. The pattern is then flipped vertically.

Answer 179
B. It is the only one with the same number of vertical
and horizontal lines.

Answer 180
E. Two letters following the first example, facing the
correct direction, run into each other.

Answer 181
D.

Answer 182

<A

The pattern sequence is as
follows.

\J
ATA >

A>1Y

<K<K AA>>VY< A>>VYVY

Start at the bottom left and work in a clockwise spiral.

Answer 183

B. Based on the number alphabet backwards, add the
values of the two letters on the outer edge of each
segment and place the sum into the opposite
segment on the inside.

Answer 184
=X t=td 9=3X4+19=82+5+4=1].

Answer 185
B. The others all have an equal number of straight
lines and curves.

Answer 186
F. Circles and rectangles interchange except for strings
of 3 circles which disappear.

Answer 187
Back, back, forward, back.
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LEVEL 3

‘44

PUZILE I I

l l Take a letter from ecach cloud in turn. You will find the
surnames of five film actors plus one extra name.

Who is it?

'y

See answer 23

X B4 X
A

PUZZLE E

Can you work out which symbol follows the series?

See answer 70

209
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Gl (BBl g|gd|=p=| 8| g B |

PUZILE EI

ning behind this grid and

Can you work out the reaso

complete the missing section?

4

See answer

2
@
[
2
IS
| &
@
&
IS
@
®
IS
@
IS
2

BlE[B|=a|ws|=a|B |G| E|B |=|o=|R |E]| 8=

B le|ow| 8| B ||z = == § |=0| 8 iz B | =0

| g|B[=|w|B|d|B|g|B|=|=|R |E]|=|E




LEVEL 3

2
S z
C
(4 R_(
PUZZLE I ' Py
l l Take a letter from each cloud in the given order. You will /d
find the names of five composers and one extra name.
Who is it?
See answer 72
D
B u
J
F oA
C
F
N
I
°
PUZILE EI PUZZLE I!
Can you work out which are the two odd letters out Can you work out what should replace the
in these triangles? question mark?
See answer 127 See answer 81

21
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S4 E3 |SW2!| E8 E3 E3 | SE3 | SW1|SWé6| Sé6 S1 | W2
SE4 | S2 | SE5| S2 | NE1| S6 | SE3 | SE4 | W5 |SW2| S1 | Wil
NE1| E5 | N2 | E2 | W1 | SE3 | S1 | W5 | S4 E2 | NE1| W4
NE2] S3 | W2 | N3 | E6 [NW1|NW2| W5 | N1 | E2 S3 | W7

E2 | SW1| NE4 |SW1{ S2 S2 | W5 | W1 | W4 | SE1 x. W1

E3 | NE4| E7 |[SW2} E2 | N2 | SE2 | N4 | N1 | N4 | N5 | S2

E6 | N1 | E9 | NE2 | NE1 | NE3 | NE1 |[NWé6| W5 | N4 | W10 | N2
NE3| N5 |NE6| E4 | W2 | W2 | E3 | W1 | W4 | E1 [NW3| W11

PUZILE I'I

Can you work out the reasoning behind this diagram

and fill in the last square?

See answer 2

212

PUZILE n

This diagram represents a
treasure map. You are allowed tc
stop on each square only once
(though you may cross a square
as often as you like). When you
stop on a square you must follov
the instructions you find there.
The first one or two letters stand
for points of the compass (N =
North, S = South, etc.), the numb
for the number of steps you hav
to take. The finishing point is th
square with the asterisk.

Can you find the starting point?
There is one complication. You
will find that you never land on
some of the squares at all. If you
cross out those squares on whick
you have landed you will see th:
those on which you have not for
a two-figure number.

What is it?

See answer 33

puznieF)

Can you work out what the missing symbol should
look like?

See answer 8
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lruzzie Kl

How?

\
T @ See answer 66



T[]
T R
SRER \iRE

PUZILE I I l

These letters, when joined together correctly, make up a
novel and its author. Can you spot it?

See answer 85

214
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PUZILE I E PUZILE I EI

Can you find the number that should replace the Can you work out which number should replace the
question mark? question mark?
See answer 155 See answer 84

PUZZLE I I I

Can you find the odd one out?

See answer 110

215
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L[D[1 [A]1 [DID]ATITAT

D |A

D

| |[D{1[D

| [D{A]|'|D
| |A|D]A] |

DD |

| |[A[{D|A]1|D

| [DID]|A] |

A[D[A[A[D[A]|

<
O
<
O
O
<
O
O
<

DI |D|D|D|I[A[D[A[A|D|A

A

AlA

D

A|A|D

D{AID|A|I|D| I |A{D|{D[A[D[{D|A]I|D
| |A|A|D[A[D[A|I|A|D|D|A|D| I |D[A

A[D| |

DIA| | |D|D|A|D|D|D|A] |

DI(A|D|A|D|D|A|D|D[A[A|D|A|A|D

| |A|D|D[A|I [A|D|D|AJA|D|D|A|D

DIAJA|D{A[D|A|D|D|D(D] I |A] |

A|D[{A|A|D|A|D|A|D|A|D|A|D|A|D]A

| |AJA|D[A[A|I|A]I'|D]JAJA|D|D|A|D
D{ I {D[{A[D(D[D|I [D[A[A[D|I [D[D{A
| IDIA|D|D|D|AJA|T'|ID|I'|D|AJA]]|A

A[ I [A[D[AJA|D]| I |D|A|D]| |

Q7315

In this grid the word AIDA, written

of direction,

ge

chan

without a
e. [t can be written

horizo
diagonal direction. Can you spot it?

nly onc

appears o

forwards and backwards in a

ntal, vertical or

18

See answer



LEVEL 3

PUZILE I Ii PUZILE I E

Can you unravel the reasoning behind this star and fill
in the missing letter?

Can you work out what number the missing hour
hand on clock 4 should point at?

See answer 86 See answer 10

A B

Boston - Nashville Chicago - Vancouver

Houston - Toronto Cleveland - Richmond Augusta - ?

a) Washington
| b) Milwaukee
PUZZLE c) Ottawa

d) Galveston

Can you unravel the logic behind the starting point and
destination of each of these cars and find out where car E
is going?

See answer 55

217
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—

Pick one letter from each flower in the order shown. You
will get the names of five statesmen. Who are they?

See answer 105

S



LEVEL 3

PUZILE E II PUZILE E l

Can you unravel the reasoning behind these domino Can you work out which number should replace the
pieces and find the missing letter? question mark?
See answer 93 See answer 1

14 ? 29

PUZILE m

Can you work out which number fits underneath letter A?

See answer 104

D
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2 7 3 8 4 9 2 7 4 9
9 9 2 7 4 9
4 4 3 8 4 9
8 8 7 2 7 3 8 4
3 3.1 2 4 9
7 7 8 7 3 8 4 9 2
2 2 3 | 2 7

7 3

2 8 2

S a | 7

9 9 3
4 8
8 9 4 8 3 7 2 4
3 9 4 8 3 7 2 9
7 9o lals|aslz]2
2 9 4 8 3 7 2

PUZILE E’

The numbers in this grid occur in the following order:
9,4,8,3,7,2 and run in an anti-clockwise spiral
starting at the top right. It is complicated by the addition
of spaces and repeats according to a pattern.

Can you complete the missing section?

See answer 30
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/m4
% (ﬁ \\ m
N 7'/
A\

PUZILE B:I

Suaddenly Bill eaw & mam Imn
the ereowds

Neither brother had ever seen him

before.

See answer §6
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e e B R e e | e | B (&

PUZILE m

oning behind this grid and

Can you work out the reas

complete the missing section?

See answer 14

S GH RS GG AR I G G GH B G GH R R AESS

e (SRSl v e rB|S

eSS eS| e |8 s e|B|SB|ISB|R

S BleR (R BB e || e ||
BR(B(B(S (B[R (B(RB[S|&|(B[B|s3|&(=2
BB BB BB &S| (e (B[R
B & S| |B(RB|& | (B e|(e|&| &2

BB (R (BB & e (|
BB (Bl (BB |(B(F (B (BB (Bee|SB|R
BB Y (B (R |B(RBB(RB|B(SB|RB ||

BB | BBl (BB |R
BB &V || eSS |&
@& S e S eS|

s eS| B el IS |t e el
S IR R G R ke ke G R T R A R R e R




LEVEL 3

There is something wrong with
the list below.
Can you spot what it is?

Red Black Orange
Purple Green Grey
Yeliow Brown Blue
White Indigo Mauve
Violet

PUZILE Ei

Can you unravel the reasoning behind this juggler and PUZZLE

find the missing letter?

See answer 92

See answer 83

N
A u
1°GK
J
e 5
szM

711 28 [T 29|

Can you work out which letter does not belong in the Can you work out which letter fits the square with
second circle? the question mark?
See answer 138 See answer 94

S



LEVEL 3

The four pieces, top, when fitted together correctly, form
a circle. However, one has gone missing.
Can you find which one it is?

See answer 22

224
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PUZILE EE

complete the missing square? Can you find the missing number in this wheel?

Can you unravel the reasoning behind this square and

See answer § See answer 11

6
Y
{ 3
PUZILE EE’
l l l l Take a letter from each cloud in turn. You should find the l l l
names of five painters and one extra name.
What is it?

See answer 28

S
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O O O

b, A, A

X A A X X AN
O O

X AA/§)T}\®

/%

W . Méh

O
A\
[PuzzieET]

Can you work out which is the odd one out?

See answer 78

O

A

O

N

JAN X
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A

[0713 35

Can you unravel the logic behind these diagrams and find
the missing letter?

See answer 97

N | I

PUZZLE Eﬂ @m

Can you find the letter that should replace
Can you work out what the missing number is? the question mark?

See answer 115 See answer 102
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in the missing letter?




LEVEL 3

‘ I.‘. w'
-] N L) ]

8 PuzZLELTY

Pick one letter from each flower in the order shown. You
will get the names of five actors.

See answer 76

220
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LEVEL 3

c
Ay
L 0
HE R
c
Ly
A [
N vy P

PUZILE I ! I

Can you spot which are the odd letters out in
these triangles?

See answer 135

12]6
96

917
84

W
N

[PuzzLelT)

Can you work out which number should go into the
square with the question mark?

See answer 108

6 G B 6 2 G F 5
5 D 3 9 D I 3 4
1 F 7 H A 7 1 H
9 E 4 C 2 5 C E
2 A 6 G 8 I F 8
8 I 5 B 1 4
3 B 1 H 9 E
7 H 9 E 4 C 2 A
4 C 2 A 6 G 8 I
6 G 8 I 5 D 3 B
A D 3 B 1 F 7 H
H 5 7 H 9 E 4 C
6 2 F C 2 A 6 G
8 D 1 4 8 1 5 D
A B 7 1 G B 1 F
F 5 9 C E 3 9 E
71345

This grid follows the pattern: 5, 6, 4,7, 3,8, 2,9, 1, with
the letters (in their positions in the alphabet) alternately

S

replacing numbers. Can you fill the missing section?

See answer 35
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PUZILE I ﬂ

How?

See answer 32
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7161219(111118|13[1[5]|1]715(3|4]|1

8|516(6|12(414(8(3|8(4|7]1|6]1(8

(16(212[5]|2|3[7]14[5]|8|5[716|3|1
7(1913(118141514(71|71914|8[5]6|3

3|16(8(812[9|8({8(21|5(7]2]1(8|3|5

5|6|19(6|5|13[4|714|7|4]12|6[6]|51]5

11613(2]|31415(8(111121419(3|2]|7

51819171813 16(|9(3(6]315(4 (9 |4
(4151671511815 (8(3[1]2]5]7
(12121912124 (71419141118|6|7 |8
2141319567185 [8(3]2]|7|5[6 |1

5191413(4(21611|7|3(4]|9]12|6[9 |1

PUZILE I H

nd you will find pairs

—

Look at this grid care
of numbers that add

ntal,

a either horizo

al direction

0 10, in

-—

up

]

vertical or di

How many can

spot?

you

>

47

See answer
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PUZILE
PUZZLEIEI m

Can you find the missing number on the domino
Can you replace the question mark with a letter? piece? You will find the answer in Japan.

See answer 87 See answer 113

PUZZLE
m PUZZLE m

Can you work out the reasoning behind this wheel
and fill in the missing number? Can you replace the question mark with a number?

See answer 25 See answer 6
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PUZILE EI

J J Pick one letter from each cloud in the order shown. J J
d You will find the names of five playwrights plus d {
one extra name. Who is it?
See answer 41

B496 LXY 26 units C275MAZ 51 units
a A194HCW 59 units a

F287PTF 43 units K948SGN ?

PUZZLE m

Each of the cars was filled with petrol.
Can you unravel the connection between the
registration mark and amount of petrol and work out
what amount the last car was filled with?

Can you unravel the reasoning behind this square and A) 30 units B) 72 units
replace the question mark with a number? C) 36 units D) 78 units
See answer 7 See answer 40

22



6 0 &S
}

Can you work out which face would fit the missing space?

(2
/\
C

See answer 88
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right order will form
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ntal line is

each horizo

o

rtical line.

ully form the square?

-

TS c<SH

192)

nswer 80

See a
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[2] =1 =1

PUZZLE E'I @m

Can you work out which is the missing letter on the
Can you work out what the last clockface last domino piece?
should look like?

See answer 120
See answer 16

PlIZZlEﬂ] SEV | SEU| SU | SEY |[SWY| EX | SP | SP
This diagram represents a treasure map. SS * WY | SEV | EX | WW |SWT| WS

You are allowed to stop on each square only once

(though you may cross a square as often as you like). SES | SS [ WX |[NWX| SQ | NY | SQ [SWT

When you stop on a square you must follow et | sx INEY!|SEV! su lswwlww | sr

the instructions you find there. The first one or two

letters stand for the points of the compass
(N = North, S = South, etc). SS | ET | SV [NWY] WV | NX | WY |SWT

What the last letter stands for is for you to find out. sU INEUINEY!| sT INEWl NX | NW INWU

The finishing point is the square with the asterisk.

Can you work out where the starting point is? NEVINEWI| sv I SEY| sv | NT | NX | NU

See answer 13 NX | NT | NT | EX [SWX] NX INWY| SY

NX INEX| NY | SY INWY|SWX| NY | WY

NT |[NEW| EW | NV |[NEW| EY |SWY| NT

SEY | NV | NT | NEY| NU [NWX| NV |INWT

NX | NR [NEW| NO | NO [NWV} WY | WU
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LEVEL 3

628

410 718

606
325 476

549

PUZILE IE PUZZLE IEI

Can you unravel the reasoning behind this diagram
and find the missing letter? Can you find the odd number out?

See answer 153 See answer 124

/AN
A [N/ A
AN/ /iN/O\

73 64|

Can you find the missing letter?

See answer 156

241
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punelf PUZZLE[T]

Can you unravel the pattern of this wheel and find the Can you work out what the square with the question
missing element? mark should look like?
See answer 16 See answer 12

G
R
E
0 R
L
G
w
N
L E
E
0
puzzLE[7] PUzzLE[T]
Can you unravel the reasoning behind these diagrams Can you work out which is the odd letter out in these
and find the missing letter? triangles?
See answer 134 See answer 144
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Wﬁ%

T —rrrrre L

[fi=, . G e s et gy T Y
i Al N PN G TR B
RO L E R 1 R R A g h i

his wife was in bed with a stranger!

What had happened?

See answer 21



LEVEL 3

H
[t 70
T

he above pieces, put together correctly, form a disc.
However, two extra pieces got mixed up with them which
are not part of the disc. Can you find them?

See answer 38

24
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510|5]|]6]4|3|5}j0]5]|]6]4}3
1187118711871 1]|8]}7
6|14]3|]5]0}5]|6|4}]3|5]0]5
513|4}1115]|]6|5]4]|]4]0}5]|¢6
7171881211 |8|]7]8]18]|]11]1
315]1]0]4j6|6}]3}5]0|4}61]5
416|]513|6|]015]6]5}13|51]0
81111 ]817|8|8j2]|]1]7}7]8
015651314105 ]6]5]13]4
510]5]1]6]413|5]|]015]6]|4}3
1187118711 ]8]|]711)8]7
61413]5]0}5]6|4]3]15]01]35

PUZZLE m

Can you unravel the reasoning behind this diagram
and find the missing number?

See answer 99

24

X 71|

This grid follows the pattern: 6, 1, 5,0, 8,4,3,7, 5.
As a complication you will find some numbers have
increased by one. If you highlight these numbers
you will discover a letter. Which one is it?

See answer 52

PUZZLE EEI

Can you replace the question mark with a number?

See answer 37
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xoOZpl<lxi=loxZnZmw|o
OIS X OO0 X|x
o0l Zcm|—O>]|<
NMOoM<IC|WO kX Mo |=
Ol =Rlorx|HlwiwiNl<|a |-
NXMF|<<[IO>= 0w X|HXIN
<[ZINHOw|—|<<>- 0w
— XS IXIOx=>IN>=OBD|<|O
OO =12
T|l—|xnNoQ<<m|w|n|—(X
dn<<- - oONoI=|T|O
<|—|X|<|T|X|<<|-|O>- | > |O|<
XIS OO |D|GO S << u- >
Wl QINW|[L - IZlxZI0oa = |w
XxODKIXINZIOIX|D|<tm
N[> oAQw TP |— o) |l

PUZILE E I

beina

ed out
agonal direction

miss

letter

y. You will find pairs of
). The pairs can

from the alphabet, with one
between them (i.e. AC, DF, e

Look at the above grid carefu

letters

y .
s £

24



LEVEL 3

@m PUZZLEEi

Can you work out the logic behind these clockfaces

and fill in the missing hands on clock No. 4? Both Can you find the letter that would replace the
hands will point precisely in the same direction. question mark?
See answer 27 See answer 137
A | A
3 2

PUZILE Eﬂ

Can you unravel the logic behind these diagrams and find
the missing letter?

See answer 109

247



LEVEL 3

RAPA

PUZILE B'I

The above pieces make up a disc when put together
correctly. However, one piece is missing. Which is it?

See answer 3

242




LEVEL 3

AMSTERDAM EINDHOVEN
ROTTERDAM NIJMEGEN
PUTTEN
IJMUIDEN ARNHEM

SCHEVENINGEN BREDA

PUZILE EI

Which of the towns in the right hand box should fill the
blank space in the left? The answer is a long way from the
Netherlands.

See answer 100

hAER
N

+

V.‘

A B

PUZZLE!:!:I

Can you work out which diagram would follow
the series above?

See answer 111

242



LEVEL 3

PUZILE “ I
Can you work out which is the missing letter? PUZZLE m

See answer 107

Can you work out which is the odd diagram out?

See answer 139

arn
L

PUZIL
PUZILE !'E’ m

Can you unravel the reasoning behind this diagram
Can you find the missing number? and find the missing number?

See answer 36 See answer 74



Feeling bored, e put wup his
lnama ama veld the teacher,

“l know a creature that has legs, a chest

and a back but no head.

The teacher was, as usual,
furious at belng stuek For am

dnSwWels

What was Jimmy thinking of?

See answer 17
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B
2
A C 1] 4
11 4 314
41 4 21217
3l1]2]|3|7|2|s81]s
? N g8l7|al3|7]2]8]5
O

[T7113 87| PUZZLEET
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»
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p—
N

NIN
=] W
@ | ] W

Can you unravel the reasoning behind this star and This grid follows the pattern: 3,1,4,1,5,8,2,7. Asa
find the missing letter? complication you will find some numbers have been
increased by one. If you highlight these numbers you

See answer 101 will discover a letter. Which one is it?

See answer 60

A. Bruno Velvet B. Isaac Checkers

e =

7 hrs 20 min 8 hrs 26 min

C. Damien Wallis D. Samuel Blackborough E. Arthur Hastings

L L0 O

9 hrs 20 min 9 hrs 40 min a) 8 hrs 20 min
b) 8 hrs 26 min

PUZZI.E!:EI c) 9 hrs 20 min

d) 7 hrs 14 min

Each racing driver takes a different length of time to
complete the race. Can you unravel the connection
between the name of the driver and the time and work out
how long Arthur Hastings took? (Clue: The values are
based on vowels and consonants).

See answer 61
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A is to B as C is to
E F G
puzzLefD])

See answer 98
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This diagram represents a treasure map. You are
E3 S6 E3 | SE3 | E3 |SW1|SW1|SW1 allowed to stop on each square only once (though you

S6 N1 | se4 Inwil w2 | s1 s5 | wa may cross a square as often as you like). When you stop

on a square you must follow the instructions you find

there. The first one or two letters stand for points of
E4 52 w2 S3 S1 E2 W4 | SW4 the compass (N = North, S = South, etc), the figure for

E2 N1 lsw2lse2lse1!l ws | sa s1 the number of steps you have to take. The finishing
point is the square with the asterisk.

E2 | w1l s1 N2 | N4 s2 | N2 | N3 Can you find the starting point? There is one

complication. You will find that you never land on
N4 |swil Es N2 INw1| w1 | N1 N2 some of the squares at all. If you cross out those squares

on which you have landed you will see that those on

NE6 | SE1 [NW1| SE1 | SE1 | N3 |[NW5| sk which you have not form a letter.
Which one is it?

E1l | NE1| E5 | NE1| N3 [NW4{ W3 | N1

See answer 49

13
676

324 625

2916

26
18

2197
729

343

54

PUZILE EE PUZILE EEI

Can you work out which is the odd number out in Can you unrave] the reasoning behind these diagrams
each circle? and find the missing shape?
See answer 132 See answer 141
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PUZILE E“

These pieces, when fitted together correctly, form a square.
However, two are not needed. Can you work out which
ones they are?

See answer 64
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PUZILE EE!

Take a letter from each cloud in turn. You will find the

names of five scientists plus one extra name.

Who is it?

See answer 46

Can you work out which shape should replace the
question mark in this square?

See answer 20

@

PUZILE EEI

Can you work out which number is missing from
this circle?

See answer 126
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15| 8 (14 |19|10j10{ 7 {1414 112{ 5| 7 |16|13]9 [15

13]114{11(4 | 3 [10{17(9 |18 7 | 3 | 6 |12]| 5 |14(19

111419 (11|18 4 |118[12{ 9 [12|114|15(14|17|2 |6

171514 118[3 1716 |8 [19|17( 4 |15] 8 [11|12(15

4168 |19|15(11|19/112|112{13(11| 8 |4 | 3 [14| 3

131 5(1 (19|16 |8 |15( 2 |17|13| 7 {15(11|14]17 (12
91112(13|41|6(5|819(12|19 |8 (17| 7 |15|4

5112/ 2 |118{11|8 [15|6 (314 (2|1 |4 |6 |16[12

17(1819 12| 5|13(2 |8 |6 [16]10|14| 3 | 4 (12|11
8(6|13[16|5 |11({12|8 19 (14| 7 |3 |8 |9 |13|6

501911781514 15|15|3 |6 [15(8 (8 (11
9181214 3|1 |19]8 |13{16{12(18(14|19]| 2 |12

PIIZZI.EEH

hidden pairs of numbers which

In this grid there are

ntal, vertical

in a horizo

appear
or diagonal direction. How many can you spot?

add up to 20. They can

swer 63

See an
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PIIZZI.EII:l:l

Can you find the number that fits into the man’s head? Can you replace the question mark with a letter?

See answer 125

32

See answer 143

41 ?

PIIZZI.EII:Il

Can you find the number that fits below the 7?

See answer 90
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(2 (2
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PUZILE I I:B PUZILE I IIEI

Can you unravel the logic behind this diagram and Can you unravel the reasoning behind this wheel and
find the missing number? replace the question mark with a number?
See answer 129 See answer 44
A
A B C D
A
E \ F G K \

PIIZZI.EII:!'

Can you work out which diagram is the odd one out?

See answer 136
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A well known work of literature and its author are
concealed in these crates. What are they?

See answer 117
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A

N

PUZILE l Ilﬂ

These pieces, when fitted together correctly, make up a
square. However, one piece is not needed. Can you work
out which one it is?

See answer 69
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QI X[ 2222 [Q[X|QQIX|D[QX]|X|D
2| DQD|IQAQX[QX X |PQ[X|X]|D|X

2|QI2X X |D|IQX

D Q[DQ[QD| X | 2 ]|QI X |Q|D[Q[ X[ X (€

QI QXD X |DP|QX|X|DP|Q|X|D|QX

212121 2| DD
2P XD XX

Q 2[Q[D( X X]|QDP|X|Q|D| XX (QD|D
QQIDI XX ]|Q[D[ X QDX [ X[QX]|X|D

QI 2X|P|QI XX |DP|QIX|QP|Q| XXX ]L2

2|DQX| XD X[ X[QP|X|Q[QX]|Q]X
2|QIOQ[X[X[QQ XX ]|QQ[Q[Q[X | X

2|OQIE|PIQ X[ X|D|QIQIQ X |D|X|D
2| QUQIP|Q[Y QDX X ]|Q|X | D|Q D€

YIQIZIX|PIQIX XXX ]|P|X]|QX|QX

QI X2 |P|QE|DP|D|X|DP|X|Q[X|Q|X|D

PUZILE l ”'I

in patter

This grid follows a certai

n. Can you work it out

and complete the missing section?

swer 103

See an




LEVEL 3
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. Em PllZZI.El“:l

Can you work out which number would replace the
question mark? Can you spot the odd one out?

See answer 133 See answer 148

24

K N

G

11

R 16
11

D H

15
Q 4
8 M

070 111 |

From the above clocks, can you work out what

PUZILE I I E

number the minute hand on clock 4 should be Can you find the odd number and letter in these
pointing at? triangles?
See answer 39 See answer 147
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LEVEL 3

S7 E1 El | SE3 | W3 | W1 | S7 S4

E7 E2 E3 E1 | W2 | N1 | SE1 | SWe

E5 | W1 |SW2| SE2 { SE1 | W3 | N1 | Weé
SE3 | SE4 | NE1 { NE3 | W3 | S2 S2 | N3
S1 |NW1| E2 |SW1| N2 | W3 | W5 | W1

SE1 * S1 | NE3| W3 | S1 | SE1 | W3

E4 | W1 | N3 | SE1 | E2 |[NW2|NW5| N3

E3 | NE2| E5 | N4 | N4 | W3 |NWé6| N2

PUZZLE I I I I

This diagram represents a treasure map. You are Can you find the starting point? There is one
allowed to stop on each square only once (though you complication. You will find that you never land on
may cross a square as often as you like). When you some of the squares at all. If you cross out those
stop on a square you must follow the instructions you squares on which you have landed you will see that
find there. The letters stand for points of the compass those on which you have not form a letter.

(N = North, S = South, etc), the numbers for the Which one is ijt?
amount of steps you have to take. The finishing point
is the square with the asterisk. See answer 68

PUZILE I I El

Can you unravel the reasoning behind these diagrams and
find the missing letter?

See answer 150
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[ 117 [0 18

Can you work out which number should replace the
question mark? Can you find the missing letter?

See answer 146 See answer 151

gy @

The pieces, when fitted together correctly, make up a right-
angled triangle. However, one of them is not needed. Can
you work out which one it is?

See answer 58

26
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O[R|O[O|E[R]A[M] I [O|R]I'|G[A]A|G
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G|A[G|G|O|O|R[M[R|G]| I [O|G|G|O] |

AIMIEIR|R|R]| |
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O|R] 1 |G| |]O|R|O|O|AJAIR|G|A|O]A

O|G|AM[G[R|A]|O] |

O|R{ I [GIAIM|O[M{OM]OIM{A{O|A]O
O] I MI[AIG[E[R| I |IRIMJATAIM[R|G|R

O|RIE|G|A[N|O|G|I |GIA|G|I|G]]

G|AIR[OIM] I |G[O[G|O|G|G|I [A|R]|G

| |O|R]A| I |G]A|R]A|R] |

MIO|RIA|G| I |[G]|G|G|R[RIAIM|R|G|R
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19

11 91

17
23 53

41

[0 121 L7/T 122

This square follows a pattern. Can you unravel it and

Can you find the odd number out? replace the question mark with a number?
See answer 128 See answer 19
D
' A - H r
A
G
C

F

PUZZLE l E'

The above pieces, when fitted together correctly, form a
square. However, one wrong piece is among them. Can
you work out which one it is?

See answer 73
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» w ~J | [ o] |
N a & )

[0 124 |

Take a letter from each flower in the order shown. You will
get the surnames of five composers. Who are they?

See answer 118
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N4 |NWé6| W9 | We | E3 | NE5| N1 | NE3| E1l E4 | N4 | E3
N6 | W8 |SW1| W5 |INW4| E4 |NW4| NE4 {INW1| N2 | E10 | N5
W4 | N3 |[NW2| N1 [SW2|NE2] E6 | N1 | W2 | N3 | W1 | NE5
NW3|SwW2| S2 E2 | N4 | N2 | W4 | E2 E2 | NE2| N4 | E3
S1 S2 S1 S2 |NE2| S2 | 3 E6 | N3 | SE2| N2 | E5
W11 |SW4| S3 | W1 | S4 S1 {SW4| S4 | SE1 | S1 E8 | N2
W5 INW1| S2 | W3 | E4 |SW1| S4 | N1 S2 E5 E2 S2
57 ) | S7 |SW7] E1 |SWé6| W3 |SW4|SW1| E8 E5 | SE7

This diagram represents a treasure map. You are
allowed to stop on each square only once (though you
may cross a square as often as you like). When you
stop on a square you must follow the instructions you
find there. The letters stand for the directions on a
compass. However, there is a complication which is for
you to find out. The numbers indicate the number of
squares you have to move.

PUZILE I EI

The finishing point is the square with the asterisk. Can
you find the starting point? You will also find there are
some squares that you don’t land on at all. If you cross
out those squares on which you land you will see that
those on which you do not form a number.
Which one is it?

See answer 1456

PUZILE I E !

Can you work out what the missing number is?

See answer 45

PUZILE I m

Can you spot the odd diagram out?

See answer 162
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What comes next in this series?

See answer 79

@
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This square is made up according to a pattern. Can Can you unravel the reasoning behind this wheel and
you work it out and fill in the missing number (1 - 9)? find the missing number?
See answer 26 See answer 112

AN
=

\\ 7/
\_/

A 13 hours B 28 hours C 16 hours
18 min \\ ,/ 35 min 21 min
\c—s/
D 7 hours a) 13 hours 29 min
19 min b) 12 hours 35 min

c) 7 hours 12 min
d) 12 hours 7 min

puzzLERETR

Each of these balloons was taken for a flight, which lasted
a different length of time. Can you work out how long the
flight of balloon No. 5794 lasted?

See answer 29
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NIOJQ|RID|F|G[S[J|T{U[VIK|G|L|T

X|T|C

BIR|I [N[KIL|V|Q[J[H]|L|G|N

VIAIWIU|D | X[Q[R|Z|D|F[M[P|H]J IR

S[E[BICIM{O[T[A|[VIN|W[K[Y ]I AIK

MIBIG|O[Z|V|J[YMID|L[T|L|Q|C|E

O|G|L

BIPID|F[K[P|S|CIA|[C[T M|D|Q|M[K
QIS|UIWIA[CILIAIKISIWIU|X|Z|B

H|L|B|R|Q[JM|H[R|G|E|R|VW|S|D
RIS|O|K|P|CIN[D[T|Y|R|P]G|O|U|[X

D|VIKIMIR|T|F]A|F|OJU[E

LI TIX]Y[KIMIDIH|B|C[I [NJU]O|V|Z

BIG|Z|H|E[R]O|Q|L|E[D]A[R|Q]|P{[A

G|UIDIA[VIKIS|U|IF|V]Y|F|J|T]A[E

TILINIWIX|O|Q|VIAM|T|S|AIL|J M

O|R|BIY[CIF|S|T|J|QIU|PID[H|I |G

HIKIZIL|O|QIK|B|D|G[X[V|Y]|A|Z]|B

PUZILE I Ea

s, adjacent to

in the alphabet. They can be written in a

hidden pairs of letter

ion. How many

ical or diagonal direct

can you spot?

67

See answer
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L7113 133 | [T 134 |

Can you spot the odd one out in the bottom triangle? Can you find the missing letter in this square?

See answer 31 See answer 43

AD AN A

PUZILE I Eﬂ

Can you replace the question mark with a letter?

See answer 154
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PUZILE I Eﬂ
PUZZLE Can you unravel the logic behind this diagram and

work out what the square with the question mark

Can you find the missing number? should look like?

See answer 149 See answer 34

Y
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77113 138 |

Can you find the odd one out?

See answer 123
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im sweh @ way that, Wihien shé
ghared It with someone alse,

the subject of her generosity

Vet RIEE ey Qim0 Wit

ez w e en
SRR ESBE Ty,

Flow adid she do ity

See answer 42
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Pick one letter from each of the flowers in the order shown.
You will get the names of five American cities. Which ones
are they?

See answer 131
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SEW| SP | ET |SER| ET |swY| WX [SEw| ss | sQ | ss | wx PIIZZLEI“I

EY SP | NEY | SES |SWX| WW |[SWW|SEW | WY | SP sP SU

This diagram represents
t

sx |seu| su | EU | sY | Ex | wu | ww [swx| NEX| wp | sg | @ treasure map. Youare

allowed to stop on

EQ | SY | EW | NX | ww |swY]| SW |[swU| WY | NX |sww]| NY | eachsquare only once

(though you may cross

SY | EY | ES [NEV| SV [ SW | SS | SEY [NEW| WY | SU | ST | asquarcasoftenas you

like). When vou stop
EO | NU | SY |SWX|NEY |SWX]| WU | EX | SY | NW | NW | WQ | ona square you must

follow the instructions

NET | SX NV | EX NY | NV | EV SV |INEW| WU | WP INWT| vou find there. The

first one or two letters

NV | SEX| WX | EV [SWVINWX] NT |SWX|SWY|SWV| WY | NW | stand for points of the

compass (N = North, 5
EU | SEX | NR | NES | SEX INWY| WT |SWY [INWW|NWT| NEY| SY = South, ote). What the

Tast letter stands for is
for vou to find out. The

NET | SEY | NET | WW | SY | WY | NS | NU INWR| NW | WX 3

NEY| NV | ER | Ex [ wv [ No [ sEY| NU | NO | wy | NU | wx | [inishing pointis the

square with the asterisk.

NET| EX | Nx | Nw | wx |[NEW| Nw | Nx [NwuU| Nw [ wx | ws | Canyou work out where

the starting point is?

See answer 57

[T 142 711 143 |

Can you complete the last diagram? Can you find what number is missing from this circle?

See answer 157 See answer 142

D



oD
|
hkd
—
hkd
|

)
al
a
<
Al

)
a
<
al
)
)
a
<
al

PIS|A|IR[T|S|P|S|P (A

S|PIAIRISIP|A|S|I|S]|R

PIAIS|R[P|RIJAIS|R|I|S

PIAIR[S|TISIPIA]I[SI|S

)
o
<C
ol
)
e
<C
ol
)
ol
)
o
ol
<C
)

RIAIP|S|A|RIP|I |S|P|RIA|S|P[S]]

| |[S|P|A|R]|I

A|IS|IPIAIRIS|PIA[R[S|I |P]A|R|S] ]

PIAIR|[S
PIRIA|[S
RISIA|S

RISIA|TS|RIA|IS|RIA|I [S|P|R]A|S

RI TS| [P|SJA[P[RIA|I[R|S]|I [P]]

AIRIPIRIJA]I [RIS|I [P|S]A[P|RI]A|S

| [AIPJA|P[AIRIAIR|I [P|T|S]A]|I [P

S|IPIR{I'[S|S|I|P[P[S]A|R|P[R|S]A
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In this grid the word Par
ly
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These shapes, when fitted together correctly, make up a
letter. Can you work out which one it is?

See answer 77

[T7113 146 | LI 147

From the above clockfaces, can you work out what Can you unravel the reasoning behind this wheel and
number the minute hand on clock 4 should find the missing number?
be pointing at?

See answer 51 See answer 116
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12 64 72 49 B
24 59 A, b

74 67 :
1893 84 ? ,

PUZZLE I l E:I PUZILE I I EI

Can you replace the question mark with a number? Can you work out which is the odd letter out
in each circle?

See answer 53 See answer 121

Pick one letter from each cloud in the order shown. You

should find the names of five pop or rock artists and one
extra name. Who is it?

See answer 62
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See answer 140
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Mrs Jones was about to go shopping when she stopped
for a chat with a neighbour. Her cheeky son stole her
shopping list and encoded it for a joke. When she arrived
at the supermarket the list above is what she found.

What was on her original list?

See answer 158
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Pick a letter from each flower in the order shown.
You will get the surnames of five pop and rock stars.
Who are they?

» | ~J | N N

See answer 95
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-

A. Mercedes 14.08 B. Rover 9.09

bR

E. Citroen ?

C. Renault 9.07 D. Volvo 5.12

a) 3.09
b) 24.13

PUZILE I Ez I c) 24.14
d) 14.03
Each car was filled with petrol at different times. Can PUZILE

you unravel the logic between the car and the time
and work out when the Citroen was filled? Can you unravel the reasoning behind this wheel and
fill in the missing matchstick man?

See answer 48 See answer 50

PUZILE I EI! |PUZILE I Eﬂ

Can you find the missing number in this square?

Can you unravel the logic behind this star and
find the missing letter?
See answer 119 See answer 89
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PUZILE I Ez:l
ou work out the pattern of this grid and fill
in the missing section?
ee answer 96
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Answer 1
38. Regard the alphabet as a circle. The number is
double the number of spaces between the letters.

Answer 2

Start at the top right and move across the
> square in a horizontal boustrophedon.

The pattern is: miss 1 square, turn by 180°,

turn by 90° clockwise, miss 1, turn by 90°
clockwise, turn by 180°.

Answer 3
A

Answer 4

&1 @ @ The pattern sequence is shown
below. Starting at the bottom
| | &0 right, work in a diagonal
boustrophedon (clockwise start).

Answer 5

The pattern is: @ @ @ @ @ @

Start at the bottom right and work through the square
in a vertical boustrophedon.

Answer 6
7. Regard the alphabet as a circle. The number is a
third of the number of spaces between letters.

Answer 7

8. Starting at the top left corner add the first three
numbers and place the sum on the inside of the second
number. Moving around the square in a clockwise
spiral, repeat with the next three numbers, etc.

pe—
\ Answer 8
) Reading across segments 1 and 1a, 2
_;/ and 2a, etc. the dots move around the

circle in a vertical boustrophedon.

Answer 9
He was a goldfish whose bowl got broken, with fatal
results.

Answer 10

8. The two numbers added together give the number
the minute hand points at on the next clock. The hour
hand points at the number three spaces before.

Answer 11

10. Multiply the two numbers on the outside of each
segment, divide the product by 1,2,3 ...8 respectively
and put the new number in the middle of the opposite
segment.

Answer 12

Start at the top right and move in an anti-clockwise
spiral. The dot moves around the square in a clockwise
direction.

Answer 13

Row 1, Column 1. The letter is based on the alphabet
backwards, however with Y =1, X =2, W=3, A =25,
Z = 26. Its value represents the number of spaces you
have to move.

Answer 14

@ The pattern sequence is shown
below. It starts at the top right

@ and works down in a diagonal

boustrophedon (anti-clockwise

@ start).

e P B IIBE R
BB

VGRS

53

<3

S5
&

Answer 15

o

The shapes form a series in order of value:

0oooO <

Of the two shapes at the edge of a segment, the one
with the higher value moves into the middle. A
vertical arrow is turned by 180°, a horizontal arrow
is turned by 90° clockwise.
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Answer 16

The minute hand should be on the 4, the hour hand on
the 8. The numbers the hands are pointing at are
doubles of each other. The lower number moves on by
1 each time, with the hands being reversed.

Answer 17
A chest of drawers.

Answer 18 - See Page 291

Answer 19
5. Three numbers in a horizontal line add up to the

fourth number.
Answer 20 The pattern sequence is:

@@-Q@Q-

Start at top left and follow the pattern in a clockwise
spiral.

Answer 21
His wife and given birth prematurely. He made her
breakfast and prepared a bottle for the baby.

Answer 22
B.

Answer 23
Costner, Cushing, Dunaway, Garland, Hepburn. The
extra one is Domingo.

Answer 24 - See page 292
The extra word is Arrivederci.

Answer 25

5. Add both numbers in one segment, add the digits of
that sum and place new number in the next segment
going clockwise.

Answer 26
8. Three numbers in a vertical line are added together
to make up the forth number.

@

Answer 27

Both hands should be pointing at the 10. It is based on
the 24 hour clock. The two hands on the first clock
multiplied result in a product of 36. 12 + 24 (the
equivalent of 12 on the 24 hour clock) equals 36. The
same is repeated with clocks 3 and 4. (4 x 8 = 10 + 22).

Answer 28
Hockney, Matisse, Gauguin, Hogarth, Vermeer. The
extra one is Erasmus.

Answer 29
A. Multiply the first and last digit, subtract the second
digit for hours, add the third digit for minutes.

Answer 30
2
9 7
4 8 3
Answer 31

3. Each letter has a partner in the other triangle, which
is its value in the alphabet backwards (A =26, Z = 1).
The number equivalent for C should be 24 (the letter
for 3 is X).

Answer 32

The two vases were the only surviving example of
work by a famous potter. The man already owned one
and by smashing the other he ensured his vase would
be unique.

Answer 33
The starting point is at Row 1, Col 1. The number is 31.
Start at the finishing point and work back.

Answer 34

It should be blank. Start at the bottom right and go
round the square in an anti-clockwise spiral. The
patternis: ® X blank e X e

Answer 35
The pattern starts at the top right
D 3 and goes in diagonal stripes from
F . left to right.
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Answer 18
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Answer 36

7. Multiply the two numbers on the outside of each
segment, divide their product by 2 and place the new
number two segments ahead in the middle.

Answer 37

83. Add the values of the letters in each box, based on
the alphabet backwards (i.e. Z =1, a = 26) and place
the sum, with the digits reversed two squares ahead.

Answer 38
Cand F.

Answer 39
4. The numbers on the clockfaces add up to 15, 12, 9
and 6, 3 less each time.

290

Answer 40
C. Add together the values of the letters (Z =1, A = 26)
and subtract the individual digits from the sum.

Answer 41
Anouilh, Moliere, lonesco, Osborne, Marlowe. The
extra name is Connery.

Answer 42
She rubbed poison on one side of the knife blade.

Answer 43

K. Add the values (based on the alphabet forward) of
the letters, convert their value into a new letter (based
on the alphabet backward) and put it two squares
ahead.
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R I ’\/ E I | l\/ Answer 24
( I
Answer 44 Answer 48
9. Multiply the two outer numbers in each segment, B. Based on the values of the letters in the alphabet
and divide the product by 2 and 3 alternately. Place the (Z =1, A = 26), take the first and last letter of the make
new number in the middle of the opposite segment. of the car.
Answer 45 Answer 49
4. Multiply the two numbers in the bar, deduct the The starting point is Row 1, Col 1. The hidden letter is
sum of the same numbers, and put result in the next shaped like an L.
square but one.
S3
SE2
Answer 46
Celsius, Doppler, Faraday, Hawking, Pasteur. N2
The extra one is Kerouac. Nz | Nw1 | w1 l

Answer 47 - See opposite page
There are 44 pairs.
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Answer 47
44 pairs
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Answer 50

Add the limbs of the figures on the outside of
each segment and put the new figure, minus one
limb into the middle two segments before.

e Jwlo|no[~de ol oS~ oo [~ R [ on

Answer 51

Between the 4 and 5. The two numbers the two hands
point to on each of the clocks multiplied has a product
of 36. 4% x 8 = 36.

Answer 52
The hidden letter is X, and the pattern is a vertical
boustrophedon starting from the bottom left.

Answer 53
72. Add the two numbers in each bar, multiply the digits
of that sum and put the product three squares ahead.
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Answer 54 - See page 294
There are 55 pairs.

Answer 55

D. Take the values of the first two letters of each
starting town, the first based on the alphabet forward
(A =1, Z = 26) and the second on the alphabet
backward (A =26, Z =1). Add the values together.
The new letter of that value will be the first letter of
the new town.

Answer 56

Their mother had produced triplets. However, being
poor she had been unable to bring them all up and
had given one up for adoption. Nevertheless, the
family resemblance was so strong that the men
recognized their long lost brother.
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alGglK|AlVIE|plc|B|VID|N@EIR[U|V] ="
WICIQIDHIK|F|L|GM|R[SIA|BIQ|Y
Z|KIB|X[A|L[H[o|T|AB|G|BIO|C[R
VIRBIWI[T[B|I |T[KIN|IKAIOB|G|U
BICOIGIX|AIE|Y[M|Z [BIRMB[F [M|N
DIO|ZYENALDIR | J WL [T IWiBIWIX Y
FIAE|[OMMRIS|A|O|GIATIEIGID|A
BIKILIAIX]Y[Z[BIRVFIJIF|O[P[Q[R
JI|S|T|UJA[BIC |0 [V TDIOVOIS | T [UIY
UIMIN|G|F|JYD|U|Z [AT®{L IM[NJDO
P|O|R [M[O[O|A |TIW|Y |DVE | F |R{G|H
O INIX]Y|Z|BIW[C|IDIEND|A|B|C[D
SYO|A[B|C|F[X|G|H[XID|K|L [M|N
OMOIP [R|YIW|S|T |U|K|L |[A/B|CIA|B
PIAMME [GIH|M[N|A|E [RIOP |[VIX|E)
Q[BIENATOIKIQIDIPIZILIMIAIR|C

There are 51 pairs.

Answer 60

The hidden letter is F. The pattern is diagonal stripes Answer 64
starting from the top right and going up from right to B and E.
left.

o
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GIAIRIAIRIDIDIE[P|GIAIR|D|I |E|U

Answer 59

E|U

| [EIDI|E[E|D

DI1LIE
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RIPIRDIE[PIPIE|GIEIR|A[A[P[D]|A

DIEAEID|R|A|A[U[A|IR|D|U|RIE |E [R

GO RIAIR

GIEIRIAIRID|IE|IG|IE|P[A|RID|PIE R
DIRIAIRIE[G|P|G|E|R]A|R]I

DIDIDIP|G|I [AIDIDIE|P]AIE[A]I|D

EIRIEIE[EIDIRIRID|I [EJU|U[R|G|A

P(AIPIDIRIRID|GIE[RIA[R|D|G|D|E

A|RIAIDIAJA|I [G|IE|IRJA|IRIDID|E|P
RIEIRIRIRIPIE|GID[UJAJE|I ID[R]A

DIGIGIAID|IE|G[E|R[A|R|DD|E[P]A

| |[EIEIRIDIDIDIRIAIRIEIGIE|I [D|R

Answer 69

Answer 65 - See Page 297
The extra word is Oregano.
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Answer 67 - See Page 298

There are

60 pairs.

Answer 71 - See page 299

Answer 68

Answer 72

is A. Start at the

cter

Row 1, Col 1. The hidden chara

ccini, Debussy, Berlioz, Corelli. The extra

Rossini, Pu
one is Cezanne

finishing point and work backwards.
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18| 3 [16| 7 40| 3 [14[15| 2 |B[D)| 6 |12]19] 2 | 8] 5
16| 5 [12|10114| 7 | 9 [19]12] 6 [13[ 3 | g |77 | 6
16/18[ 3 [16[12|@] 7 | 4 [13[12[15]0 14| 5 13| 4
©iB[8[3[7 16185 [@o|Bl3|7 16 [12
1508 [11[19[10/D| 7Y48| 4 [12[5 [|7]]16[13[ 9 [15
1314]a] 4 |3i0[17| 9 [18]7 | 3 |&12[5 [A[19]
1] 4[lgfmo[18[ 4 [18[@| 9 2[5 7] 215)
17| 5|4 |18|8 1P| 6 |8 [19]|17] 4 [15| 8 |11|12[15
4|68 mstjod2l@it]s |4 |[aWal3
13] 5 |@419| 6 | 8 [(5] 2 [17|@3{D [15[11[14Ff12
o[1]el3[4 (6 B8 [of2[9 [8 17[7 152
5 |[12lo/B|11[ 8 [iB|6 [3|@[2 |1 |4 |6 {2
17/18[9 [12[5 [13[ 2 [8 [ 6 [16[10[14| 3 [ 211
86 113|16{5 111|12{8 19147 |3 [8 ]9 |13|6
56D 7 [8]15]4 |615|3 |61 8 |8
9|EB[2|4 |3 |CI9| 8 [13[16[12[18(&{19] 2 {2
Answer 73 Answer 77
D.
Answer 74 /
20. Take two numbers in adjacent circles. If both are
odd, add them. If both are even, multiply them. If one
number is odd and one is even take the difference. Put B
the new number in the overlapping section.

Answer 78
Answer 75 D and E.
C. All the others, when reflected on a vertical line,
have an identical partner.

Answer 79

E. The symbols turn by 180° and 90° alternately. The
Answer 76 circle and square swap places, the diamond and
Belmondo, Pfeiffer, Rampling, Redgrave, Travolta. rectangle swap shading.
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Answer 65
Oregano
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Answer 80
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Answer 81

19. Write the alphabet in a circle. The numbers
represent values of letters based on the alphabet
backwards (A = 26, Z = 1). Start at A, miss 2, D (=23),

miss 2, G, etc.

Answer 82
€. A and D, and B and E are pairs. When reflected
against a vertical line and turned, they are identical.

Answer 83
D. These are the first letters of Do, Re, Mi, Fa, So, La,
Tee, etc.

Answer 84

72. Halve the number on the top left, multiply the
number on the top right by 3. Multiply the two
resulting numbers with each other, and put the
product in the bottom square.

Answer 85
A la Recherche du Temps Perdu by Marcel Proust.
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H|L|B|RIQ[J [M|H|R{G [E [RI&W|S D
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Answer 86 Answer 90
K. K is the same number of spaces in the alphabet from 11. Multiply the number of sides of each number by 3,
Hand N, O and G, and E and Q. and then subtract the number printed.
Answer 87 Answer 91
I. These are the second letters of the numbers one to W. Starting from P go back 3 spaces in alphabet (M),
five. forward 3 (S), back 5 (K), forward 5 (U), back 7 (1),
forward 7.
Answer 88
B. Each column contains faces with 4 different types of Answer 92
hair, pairs of ears, eyes, mouths and face shapes. The colours of the rainbow alternate with random
colours. However, yellow and green have been
transposed.
Answer 89
25. Starting at the top left hand corner, work through
the square in a diagonal boustrophedon pattern Answer 93
(clockwise first), subtracting 3 and adding 5 $. D is the 4th letter from the start of the alphabet, W
alternately. is the 4th from the end. F is the 6th from the start, U

the 6th from the end, etc.
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Answer 71
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Answer 94
N. The letters spell Wittgenstein.

Answer 95
Carlisle, Costello, Harrison, Knopfler, Morrison.

Answer 96

The pattern sequence is as below.
It starts at the bottom right and
works up in a horizontal
boustrophedon.

N4V
4NN
N74\N
NA\EY

OUND ST

Answer 97

M. The value of the letter on the bottom left, based on
its alphabetical position, minus the value of the letter
on the bottom right, results in the letter in the middle.
Incidentally the outer letters spell Mark Twain
backwards but this is of no significance.

Answer 98
F. Each shape changes into a shape with two extra
sides. The order of the shapes is reversed.

Answer 99
20. Left hand X right hand + waist = head. Left foot x
right foot + waist = head.

Answer 100
PUTTEN. The initials can be rearranged to form Paris.

20
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Answer 101
P. Write the alphabet in a circle. NOP are the letters
diametrically opposite ABC.

Answer 102
C. The letters spell Henry Mancini backwards.

QIQIF | mhatem sequence s
QOE| PIXIQQQ
QY] £XO

It starts at the bottom right and works up ina
diagonal boustrophedon.

Answer 104

6. Divide the number of sides of the letter by 2 and
add the value of the letter, based on its position in the
alphabet. :

Answer 105
Brezhnev, Disraeli, Thatcher, Adenauer, Pompidou.

Answer 106
U. The letters spell Art Garfunkel.

Answer 107
R. These are the second letters of the days of the week.

Answer 108

56. Take % of the number in the top left square and
multiply it by twice the number in the top right square.
Put the new number in the bottom square.

Answer 109

M. Starting with the middle triangle and letter A move
round the diagram in a clockwise direction. Move then
on to the diagram on the right and last to the diagram
on the left. Miss three letters with each move.

Answer 110
C. It is the only circle with an asymmetrical shape.

Answer 111
A. The edges of all the symbols in one square added

together, increase by 2 with each square (i.e. 12, 14, 16,
18, 20)

Answer 112
16. The numbers form two series: 3, 6,9, 12 and 4, 8,
12, 16.

Answer 113
9. The alphabet equivalents make up the name
Nagasaki.

3% Answer 114
The pattern sequence is shown
below. It starts at the top left and
dav works downwards in a vertical

ré, boustrophedon.

8
(3

i

®

28|

P ECED S S B E E

Answer 115
32. All the others have a partner, with the digits
being reversed.

Answer 116
14. Alternate numbers form two series: 9, 12, 15 and
18, and 14, 16, 18 and 20.

Answer 117
A Midsummer Night's Dream by William Shakespeare.

Answer 118
Bruckner, Gershwin, Schubert, Schumann, Sibelius.

Answer 119

I. Start at C and move forward by 5 letters and
backward by 3 letters alternately in a clockwise
direction.

Answer 120

T. E is the 5th letter from the start of the alphabet, V is
the 5th from the end. D is the 4th from the beginning,
W is the 4th from the end, etc.
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Answer 121

J and Z. The values of the letters in the bottom circle
are squares of the values of the letters in the top circle.
J squared is 100.

Answer 122
Band F.

Answer 123

D. An anti-clockwise spiral points up or left, a
clockwise spiral down or right. A round shape has a
small shape with straight lines attached, a
straight-sided shape has a small shape with round
lines attached to it.

Answer 124
410. [n all the others the first two digits added result
in the third digit.

Answer 125
359. Reading left to right and bottom to top, subtract
17 each time.

Answer 126
729. The numbers 5, 6, 7, 8 and 9 are cubed.

Answer 127

A and N. The seriesis B, D, F, H, ] (2,4, 6,8, 10). Add 1,
2,3, 4, 5 respectively to the values to get the letters in
the second triangle.

Answer 128
91. All the others are prime numbers.

Answer 129

56. (Head x left foot) + waist = right hand; (head x
right foot) + waist = left hand). (14 x 15) + 5 = 42;
(14 x 20) + 5 (56).

Answer 130

D. The whole figure is reflected on a horizontal line.
Any shape with straight lines is then rotated by 90°
clockwise and a dot in a round shape disappears.

Answer 131
Columbus, Honolulu, Portland, San Diego, Syracuse.

Answer 132
5 and 628. The cubes of 7, 9 and 13 go into the bottom
circle, the squares of 18, 26 and 54 go into the top circle.

Answer 133
11 It is a series of prime numbers.

Answer 134

$. Add the values of the letters on the top and right,
and the values of the letters on the left and bottom.
Subtract the second sum from the first, and put either
the new number or alternately the letter based on the
value of that number into the middle.

Answer 135
0 and V. The others spell Charlie Chaplin.

Answer 136

E. The squares with lines from the bottom left to the
top right have arrows pointing up or right. Squares
with lines from the bottom right to the top left have
arrows pointing down or left.

Answer 137

Z. In alternate shapes go: top, left, middle, right,
bottom, and left, top, middle, bottom, right. In both
cases miss out one letter.

Answer 138
M. Add 9 to the value of each letter in the first circle.
C+9=L.

Answer 139

D. The formula is: left + (middle x right) = top +
(middle x bottom), but in D, the answers are 26 and
25 respectively.

Answer 140

F. A round shape turns into a shape with straight sides
and vice versa. Anything pointing down changes to
pointing up and vice versa.
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‘ Answer 141
The formula is (right x left — top) x black
fraction of circle = bottom.

Answer 142
72. These are twice the squares of numbers 1 to 9.

Answer 143

K. Starting with the middle square and moving in a
clockwise direction, miss 2 letters in the first diagram,
miss 3 in the second one, etc.

Answer 144
N. in the lower triangle. The others spell George
Orwell.

Answer 145
The starting point is at row 3 Col 9.
The hidden number is 100.

ws ws |[Nwa| E4 NE4 [Nw1| N2
N3 N1 NE2 N1 N3
SW2 E2 N2 E2 NE2
) ) s2 E6 SE2
SW4 wi| sa | s1 s4 | SE1{ s1
Answer 146

27. The numbers increase by 3, 4, 5, 6 in an
anti-clockwise direction.

Answer 147

24 and Q. Take the value of the letters in the top triangle,
based on the reversed alphabet (Z =1, A = 26) and take
5 away. Put the new numbers in the bottom triangle.
Take the value of the letters in the bottom triangle, based
on the alphabet forwards (A =1, Z = 26), and add 3. Put
the new numbers in the top triangle. For Q to fit these
criteria, the number 20 would need to be in the upper
triangle, and for 24 to fit, the letter would need to be U.

Answer 148

D. The formula is: (right x shaded fraction of left) —
(top x shaded fraction of bottom) = middle shape’s
number of sides. Therefore, in example D: (18 x 2/3
[12]) - (12 x 3/4) [9] = 3. The answer shape should be
3-sided, so it is the odd one out.

Answer 149

4. Add the two top outer numbers from the upper
boxes and the two bottom numbers from the lower
boxes and put the sum in the inner box diagonally
opposite. The third outer number is obtained by
subtracting 3, 4, 5, and 6 from the adjoining answer,
starting from the top left and reading clockwise. The
answer is obtained as follows: 6 + 4 (top right’s two
outer top numbers) = 10 (bottom left’s inner
numbers) - 6 = 4.

Answer 150
T. It spells Marcel Proust.

Answer 151
C. It spells Henri Toulouse-Lautrec.

Answer 152

A. Multiply each shaded fraction with the shaded
fraction opposite. The number in the middle is the
ratio of the two resulting fractions. A is the odd one
out because % x % = %4, % x % = %, and the ratio is not 1.

Answer 153

Z. Add the values of the three outside numbers, based
on their position in the alphabet, and place their sum
in the inner box opposite.

Answer 154
Y. It spells Aldous Huxley.

Answer 155

7. Add the three numbers on the outside of each
square (A). Add the digits of the sum (B). Divide A by
B and place in the small square.

Answer 156
V. It spells Anton Chekhov.

Answer 157

L. Start at the top left of each diagram, move to the top
right, bottom and on to the new diagram. Move
forward by 3 letters, back by 2, forward by 4, back by 2.
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Answer 158
Carrots
Shampoo
Chicken
Biscuits

Dog food
Chocolate cake
Mushrooms
Orange juice
Vegetable soup
Tissues
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Mensa
The Ultimate Mental Challenge

No special skills are needed to tackle )
o e 36 23 24 7

these fiendish puzzles beyond common
sense, logic, a little general knowledge
and a tenacious will not to give up.

This is the biggest and toughest collection
of riddles, word games, number puzzles,
mazes and logic problems that the boffins
at Mensa have ever produced. So put on
your thinking cap and have some fun
working these out. These puzzles are by

Each symbol in the grid has a

no means easy, and if you can work them numerical value. Work out what
L - those values are and replace the

out you may be a candidate to join Mensa question mark with a number.

2 5 5 s See answer 7, Level 1

— the internationally famous high

IQ society.

* Over 500 opportunities to test your
mental agility with lateral thinking
puzzles, visual conundrums, fiendish

riddles, and impossible brain twisters.

® Puzzles are graded in three sections -

easy, medium, and mind-bogglingly hard.

e Features The Mind Maze — a series of Can you work out which
mathematical signs should replace

puzzles linked by a story. The right the question marks in this diagram?
= You have a choice between — or +.
answer leads you on to the next puzzle, See answer 10, Level 1

but get it wrong and you’ll wind up in a
dead end! ISBN 1-56619-977-8

* Complete answers and explanations
given for all the puzzles.

81566719977

You don’t have to be a genius ... but it helps!
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